BF 100m R G6HA)
[14#8]) ( +1.1 m)
1031271 kR B 2 i 2 (BER K- H7)10. 82
2[ 6]1722°7% 1 & ¥ 3 (Rpge - 55 %£)10. 92
3[ 1] 80fx H & = (ROOTS-#x)10.95
47 7] 935AfLRH Mg 4 (BK[H-#%)10.97
5[ 8]3049 = & ¥ B 2 (HE¥m-%%)11.03
6L 5] 61 KB (EiferACH%£)11.03
[ 2] 11758 B & F (AccelTC-TE) RiF
[ 4120524 [ Ak #id 3 (LI K- Kolfy) Ri5
[3#8] (  +1.3 m)
1[ 115573 E &%  Jft th 2 CEEA-T#)11.10
2[ 2] 688 A I (BiferACH#E)11.13
3[ 6]20845% BA & A& 3 (B K-fE)11.13
41 511076 K% & 6 2 2 B5EKk 1) 11. 14
5[ 3]5761/NH EJHAr 2 CElTR-HR)11.29
[ 4]36032 K FH 3 (RAWEA &E) Ri5
[ 711648/ & — 03 BB K-BH) Ri5
[ 8]1592 = ki K #k 4 BEWHK-BE) Ri5
[5#48] ( 0.0 m)
1[ 8]1459 F i 2 &) 4 GHET K -T#E)11.04
2[ 3] 6N (b ZFE k4 CGHTKHE) 1111
3[6] MER HFK (OGS-HE)I.1
4 414036/ B 4 (BAD=z VA RH) 11. 28
5[ 5] 18 H & K3 (FEKR-#HE)11.29
6 1]132644F 35 B (WANER-#EID11. 42
[ 2]3033°F B {3 K 3 (EXRE HE) Ri5
[ 7] 99%4 BEKES  (RERED HE) Ri5
[7#8] ( -2.0 m)
1[ 615783 K2kt fEAN 2 (HRA-TH)11.42
2[ 4] 33/ HE fF K (WavxREID11.46
3L 1] 451 3 W /v GRURlER- #1151
41 2] M8 P HEKEA 4 (EHiT K -5E)11.65
5[ 5]16223#%% & —  (RMKEER "5 11.75
6[ 811038 M 7&K 2 Ik - # £)11.85
[ 3] 159 By 38 Y 4 (Teamhccel TE) RIZ
[ 7] 425k HERK (OGS -HE)RiG
[9#8) ( -3.6 m)
1[ 5] 804411 BEKEA 2 (EFZHA-HA)11. 45
2[ 8112104 (L 5L BH 3 (IlnthivE-%E)11.70
3[ 4] 5864% ik &= 3} (FfMEACHE)11.72
4 2]30421% 71 w3 (BEFE-HE)11.73
5[ 3] 870 B K HE 2 (AIMlK- KPk)11. 88
6 7]3152F % 22 A3 (llnds-%%)11.97
70 1118310 & 7 5L 1 CRRBFLLED 12,17
[ 6]203844 (LI ¥ th 2 kK- KN RIS

[2#8) ( +0.9 m)

107] 64@AF H:—BF (BiferAC#%)10.
2[ 2]2346 K 7 £ (STAC-FHE)10.
3[ 3]1830%2 ik B2 A 1 CRERHEL- =) 10.
47 8] 11K F  Wp  (BMH.AC-5x)10.

84
93
97
99

[ 6] S43M UG Hh 7y 3 (REHRK-HE) KA
[ 113078 K & 52 M 1 CREEAPF K Ri5

[ 41204175 % e 2 CGREER-#Z2)1) Ri5
[ 5] 6814 » 45 ¥4 (RFEKK N Ri5
(4#8] (  -1.3 m)

10 6] 221451 #fn %%  (ADLER-#E)11.
20 3] 3677 b AR (VYzvAHEIN 1.
3L 2112127 3 1\ R 3 (A E-5E) 1.
A[ 11304400 >k 8 2F 2 GaE¥a-wE) 11,
5[ 8]348748 £ K& 3 (BIRAR-HE)11.
6 4] T1948 K 5 Y4 CEMTR-F)11.
70 5] 875 \EME £zt 4 (A=) 12.

[ 71165488 &

(6%8] (  +0.1 m)
18] &ilm HwF (OGS-HF)I.
2[ 2131708k W FR4 CEER-HE)11.
3[ 714037 % & JE ik 4 (RE7=ppakfi) 1.
41 4111032 i f =} 2 (ERm-RE)11.
5[ 6]30601% & L BI 1 GafxE-HE)11.
60 5]1083¢n A K54 (BwER-E=H)11.
T0 1] 54270 M HEF 3 EFEpK-FEF)11.
[ 3]1681H
(8#8] (  -1.0 m)
106] 1988 Ml 82 (RER-HE) 1.
20 111927/ 1 2 2 (R K[F-F E) 11.
3[ 7116594~ R 8 77 3 (BrfAK-HE) 11
[ 2] 450l ie  —
[ 3]1720 F H

17
21
23
37
42
96
01

P R 3 (BRiTR K T5) Ri5

17
18
22
25
34
44
55

Pt 202 BRINER-5E) Ri5

21
38
41

(BloomP]T5%) R15
1 =F 3 (R - E) RiG

[ 4] 180 AR 6 =} 3 (TFERKHR) Ri5

[ 5]3780%x 2E &
[ 8]1069#% 1 X —

[1048]) ( -2.7 m)
10 5] 5450 5 g b 3 (BERA-HE) 1T
20 7] 317 M (WayXERID1.
3[ 6131864 I ff £ 3 CEEK-HE)11.
41 4131610 (L &k 3 (ilndta-s%E)11.
5[ 112 5 e 1 (Ream-HE) 12
5[ 2]3055% & HE Ik 2 (FERE-HE)12.
70 3] 1728 5 b4 3 (BPH-HE)12.
[ 8] 448 #

(STAC -T¥) X5
(HEEKF -5 ) Ri5

58
62
66
97
17
17
22

e th 3 (REm -5 E) Ri5



[11#8] ( -1.4 m)
107] 455 BEm 3 Jlnmh-mE)11.52
2[ 314360 A+ U Ik 3 CAldtlEg -%E)11.74
3[ 8140424 B - HE 3 (FAV=MAAKFH) 11. 87
A4[ 21540650 = 52 (BUFtE-5E)12.15
[ 11165848 A& ff & 3 BEAEK-HE) RiH
[ 417732/ K B AT 3 (T2 VAR HH) RI5
[ 511207 H #F ¥ =} 3 (InMvE-#E) Ri5
[ 61103547 JII & 3 (Bk & - B ) Ri5
[13#8] (  +1.8 m)
10 1]3164 4 3 vl A 2 JIlndtm-%%)11.23
20 5] 705 H == F BloonP]THE)11. 41
3[ 4] 7540 jEE Mg 3 (RAMEHD45E)11.44
40 6]  2/hAMR EIE (K ERE-HiE)11.48
50 711043 £ B5 32 (k& - 85 £)11.57
6[ 2123734 4 + (STAC-T#)11.66
70 8] 81k —# (SSC-¥%)11.83
[ 3] T2L% K GMORNEER) RiG

[1548] ( -1.6 m)
1[0 5]77346F i ¥ & 3 (V= AAR-HH) 11,58
2[ 6] 7461 1 GUAEEH-HE) 11,59
30 711213 1| ke 3 (IlarE-5E)11. 64
A[ 3]11695%d /A v ~F 2 BRAK-HE)11. 64
50411735 B H2 RE&-HE)11.77
6 [ 21132664 H L H  (WAJIFER-#A)) 11. 83
T 1ITI3KE 40 A< 1 (KeEm-H£)11.88
[ 8] 434% » E3 (KE&-WE)RIG
[1748] ( -2.1 m)
10 114038 M B4 (Rkv=park i) 11. 06
2[ 81317542 & M2 UlnlE-#E)11.79
3[ 5] 4454 & FnE (FEKETC-%E)11.88
4] 6] 858/ B B A 2 (Ta7417EH74E) 11, 89
50 2] 2158 K {6 X (BloonP]T4%)12.04
6[ 414547 H £ 3 (GHRP-HE)12. 21
70 311041 — > K 3 2 (k& - 85 £)12.52
[ 7136237% H Hx#H 2 (RRUKEBE) Ri5
[1948] (  -1.6 m)
10 8]1123 K& ##k  (auilProjectiE)11.85
2[ 7110674 (L = (HEKRFE-#%E)12. 05
3[ 4]43034R &= B K3 (MR- -#H$£)12.23
40 6] 220/ H k2 (ADLER-%%)12.23
5[ 518077 — W Fnak (TRAINI-Hik)12.27
6[ 3]3506R8 H w2 (B)IRer-5%)12.70
[ 1] 449°F 8 Wl — 3 (KE& -HE)RI5
[ 2136097 & Kby 2 CRANAR #E) Ri5
[2148]) ( -1.8 m)
10 711209 % J51 Fn A 3 (IAzsE-%E) 11,93
2[ 3137814 ik #E B (STAC-T%)12.02
3L 1] 21k WK (H&SC-HR)12.12
47 6] 501 &)1 fLiE 3 (e -5 £)12. 21
5[0 5] 88148 A 32 (nAEi741)12. 31
6[ 8] 32u= gk M (VWxyAHEIN12.42
70 411039/ Ak 22 (k& - 5 £)12.49
[ 21T FEZI 1 (D2 VARG RR) Ri5

[1248] ( -1.9 m)
1[ 4716258 J  f& 3k 3 Bmak-HE)11.17
2[ 6]J10934F (L 15 77 3 (B EK-#E)11.47
3[ 511639#4F £+ #F 3 (BEAK-ILE)11.54
4 8] 938iL 8 #f 4 3 (A K[FE-H£)11.65
50 7] 481=fE 2= K  (BloonP]T%5%)11.66
6[ 113030 28 Al ¥ GaEkEH-mE)11.73
70 212113k 2 ELWk 2 (RKFE-#HE)11.92
[ 31361600 i K & 2 (RHSEAE & E) Ri5
[14#8] (  -2.3 m)
10 4]1230F L g 2 (lomyg-%%)11. 45
2[ 5] b44fE H B3 (BERA-HE)11.53
3[ 615599 K FF  #T 52 CGREK-£5E)11. 66
A 2]192842 12 ¢ i 2 (GRRFA-#wE)11.77
508] 20 H 1 — (+£SC-Hm)11.98
6 7130435 & 4t 3 GEEREHE)12.07
70 3] 878B4 O &% 4 3 (AIMfiK-HI)12. 20
[ 1] 225)% ®H M (ADLER-&E) Ri5H
[16%8) ( -1.1 m)
10 7J1129%2 1 B ¥ (auiProject5%) 11.35
2[ 5]3644 K i 5t (A s h-JH)11.58
3[ 4] 134 | Z# K 3 FRAFHd-55) 11, 62
41 6]8080 11 f& — (TRAINI-fik)11.76
5[0 2]4073%% & B2 (ifsbi-5%%)11.76
6 3] 70547 Z5—BR Rk 50 11.95
7( 8] 504§ H F|]— (EVOT.C#%)11.96
8[ 1]3040% i 75 Fn 3 (hExpm-#%)12.20
[18%8] ( -04 m)
10 8] 104 44 (BMH.AC-%x)11.60
2[ 71303848 M M B3 (FEH¥mE-HE)11.75
3[ 5J31515E b g =F 3 (ndtm-%E)11.76
A[ 4] 22475 ¢ fm A (ADLER-%E)11.79
50 111130KF #2  #5 # QlaviProjectE) 11. 83
6 6] 524 - $HE2 JIInTE-%%E)11.98
70 3]3753#m )il 31 GiEXm-%E)12.15
8[ 21110278 7k  # th 2 BFEKR-£5E)12.17

[204] (  -2.0 m)

105] 47/hH K BlomP]T45)11.99
2[ 4] 46 KT ®m2Jr  (BloonP]T5%)12.06
[ 3]40218k 3 | # 3 U0 & -#£)12. 11
A[ 21554475 B &2 CEER-HE)12.13
5[ 6]35722 ¥ 2 JH 3 (FifEE-H%E)12. 15
6 1] 287t fEKBA 3 (Hl@Ef—h-5%)12. 24
10 7]4023% & A3 (llndE-5%)12. 34
8[ 8140294 Bk 75 E 2 (DM #%)12.55

(22#8) (  -1.4 m)
10 2]1229°k A 2% 2 (IALeE-4E) 11. 86
20 1] 182JigeA 3534 2 (T5kek-#x) 11. 98
30 3] 136HT {21813 (FRAFEFHE)12.00
41 5]4072:2 M IE—RB 3 (A% 5%)12. 03
5[ 4] 8534 M1 B¢ M 3 (BAthd-5%)12. 07
6 614078k M Fn A 3 (iifnEbe- 5 %) 13. 09
[ 7] 7514 1% K BE 3 (BEORTAT-AF) Ri5
[ 8] 425{ ¥ == &2 (KEs- &KL Rif



[234#H]) ( -1.4 m)
10 774074 #2 8 =} 3 Glifoebi-#%£)11. 94
2[ 4110943 5t o & 3 (RS -585E)12.13
3[ 6] 31085 A M s GURBEH- 1) 12. 16
41 8] 7528 M E K 3 (RRHEHH-5E)12. 21
5[ 5]3755H & T &1 BE¥E #H%)12.30
6[ 2] 7587% & HIE 3 (RRHEHD-4E)12.49
70 1] 9024 % L =3F3 (5% & -£5%)12.63
[ 313602 K% f#AER 3 (RHMEA ) Ri5
[25%8) (  -3.2 m)
1[0 2] 22655 & 7% % (ADLER-%%)11.90
2[ 6]35770M A & 2 (Ehnms-%E)11.97
3[ 8] 16%F (L M A 4 (BUlEt-Hw) 12. 05
40 51774975 B HEWE 1 (V2 vaAF ) 12.13
5[ 117147 i Kt 1 GRige - 55 5)12. 20
6[ 3] B1TIN A & A2 (0 THE-%E)12.27
[ 4]7745%8 7T BE 51 1 (D= VAARHR) Ri5
[ 7]11274%% [ 33 @EF P -5F) Ri5
[27#8) (  -3.6 m)
10 5] 935/ #hi sk CRARFER- 5 12. 43
2[ 6] 7597 (L ] B 3 (RRHEHT-H%)12. 46
3[ 4] 245 BE 1% (HEREH-H%)12.60
40 11172388 1 Fn 47 3 (RFd - £) 12. 64
50 7] 1728 iy & k3 (LEAT-H%)12. 68
6[ 3] 907rh AF 22402 (5B 5%)13.23
7[ 8]5648 H #F B &~ 1 (N -5%)13. 40
[ 21362014 2 K 75 2 (REHKH &) XI5

[2948]) ( -2.6 m)
1[0 3] 352%F B o (THERER T2)12.09
20 4] 518+ H M FH2 (0 THE-%%)12.35
3[ 513051 A1 2 EH (FEER-%HE)12.36
40 21357187 O £ # 3 (EMps-HE)12. 52
5[ 813316 K /L. 1% 7 2 (A K[F-#HrE)12. 60
6[ 6119934 He I I 4 (HERER-HE)12.72
701] 66N H Al (EiferACHE)12.72
[ 7] 424 JiE S5 Ay 2 (RE - E) Rig
[314H] ( -4.4 m)
101] 21 i K2 (InLE-%%E)12.39
2[ 71045 A HERES 2 (LR -515)12.49
30 4] 2737 #E sz K (BloomP]T-5%)12. 63
4[ 3]155211 1 X & (HEEH-HE)12. 68
50 8J1971 % & WA Ik 2 (FEFEH - £)12. 88
6[ 2] 2828 & & —  (iEREH-5%E)13.06
70 5] b54fpm HEZJr 2 (llnmEs-#5%)13. 38
[ 6177432 P8 KR 1 (T=Vr ARG KR Ri5

[33#8) ( -4.1 m)

1[ 3142939 0 £ N2 (F#ER-HE)12.27
2[ 7] 3BwmE o (Wa2yAEEIN12.28
3[ 6] 846)I1 4t B &5 3 (AMEH - £)12. 66
4] 813578/ = IEBA 2 (BEMpE&E-#E)12.77
50 4] 527 U 4t (EVOT.C#%)12.77
6 1] 8541l [ Il K 3 (HARET %%)12.90
70 513047/ % fH K2 (GFE%E 5E)12.91
8[ 2] 842F W f¥ K3 (AiE+H-H£)13.01

[24%8)] (  -3.9 m)
10 7177464 5 24T 1 (D= vAAEHR) 11. 99
2[ 4] 290F M1l K& 3 HES - F-HE)12. 21
3[ 3] 512k W L3 (IRTE-%E)12. 38
A[ 6]1728%k  F #23 (Rpdem - E)12. 44
5[ 5]10337%  F| #f3 (k& - ¥ £)12.52
6[ 214077 + & B2 (lfski- %) 12. 56
70 1] 762 1 %5 i 3k 3 (RASEH55)12.79
[ 8]1095 [ =3 (EES -#F) Ri5
[26%8)] ( -4.4 m)
1[ 6134985 A% B A 2 (BIIBAE %E)12.09
2[ 1] 218K A B & (BloonP]T5£)12.16
[ 7]45454% L s K2 (EE -5 $)12. 32
AL 2]112440 8 & QleuiProject$E) 12. 44
5[ 41171535 K 1 AKEE 1 GRFgE - 55 E)12.50
6 8111284 B £ OhuiProject£5)12.50
70 51540142 5 .03 (B E 5TE)12.66
[ 3] 44dc i /A (OGS-HE)Ri5
[28#8) ( -2.8 m)
10 6]77357% JIl  H# 2 (V=vaAd HE)12. 06
2[ 8]3046#k i 7w K2 (EXE HE)12. 11
3[ 1]3757H B H f 1 GE¥a %) 12. 21
4[ 5]40706% & FE b 3 (HmEke %) 12. 37
5[ 41172138 B B oh3 (R 55 %) 12. 38
6 7110424 k8 w8 K2 (k& - 8 £)12.51
7[ 3]35054% (L K #Hr2 (BlkGE-5E)12. 63
[ 2]3754%5 H % 9% 1 (RE¥GE -5 E) Ri5
[30%H] ( -3.5 m)
1[ 1745494x 7k  BE2 (BR&-HE)12. 31
2[ 3]3579) W B nb 2 (EME&-HE)12. 44
3[ 713052 = A& HF 2 GFEXE HE)12. 44
A[ 2]3054B8 R nf 22 (aE¥aE-%E)12. 67
5[ 8]513185 58 145 =k 2 (IInERA-#%)12.80
6[ 411904/ & B8 k3 (BRAT-5%E)12. 83
70 6142987 A 4f th 2 (FHEE-HE)12. 84
[ 5136133 ik F K2 (RHOEA &E) Ri5
[3248]) ( -3.6 m)
1[ 2J3059 &) #1 &% 2 (BExRE-#H%)12.53
2[ 3]5550% H B3 1& 2 CEEK-#%)12.55
3[ 5]IBIEMII i 3 (REREHA H£)12. 57
4[ 8]31554h Fd Pt A0 3 (llndLa-#%%£)12. 67
50 7] 264 1 J&5 # 3 @EE _T-5%)12. 76
6 614067 5T B BE 3 (lfke %) 12. 81
70 11303648 A 52 55 3 (HERE-H1E)12.92
8L 4] bH1k & WA (EVOT.C#%#%)13.60

[34#8) (  -2.7 m)

1031316248 )1l # & 2 (IlndE-%%E)12.38
20 111131 &8 ffi L QlauiProject£5)12. 40
3[ 6]3157/v R 3 (llndg-%%E)12. 51
ALSIITIMRA T R 1 (R -HE)12.54
5[ 414560111 #2 1% K3 (HHHT-%E)12. 63
6[ 8] 527/~ Hl F 3 (SSCLEBELSEi)12.75
70 7] 1607k H 2 Ry)lng 5£)12.92
8[ 2]3012F JII 1T & (aERER-5%£)13.12



[3548] (  -1.0 m)
104] 22041 M6 3 (WRES-5E)12. 49
2[ 1] 258 W & &3 (FEd-5HE)12. 51
3[ 6135805k 5 Bt =} 2 (MMEE&-#E)12.68
41 8] 248N fE Lok 3 (lpZid-%%)12. 85
5[ 314030% M BA B 2 (I0HE-%%)13.00
6[ 2] 1448 5L ffE SE 2 (IlnEid %) 13. 05
6[ 51407504 5% WA A 2 (HfEkt-5£)13.05
[ 71311 N B2 (BEER-%E) X5
[37#8) (  -1.6 m)
108] 284 & A3 (EMH-HE)12.45
2[ 3143087 H # B 2 (FFEE-H£)12. 62
3[ 711252/ 1L ¥ 3 (HEE 4 5E)12. 64
40 5] 4R27FH)Il EXR 3 (FTHRT-HE)12. 71
5[ 6145467 (I & K3 (BHHP-HE)12. 74
6[ 2] 39842 i & P2 (MR -¥$)12. 82
70 11104000 e #& £ 2 (e - By £)12.94
8[ 41 164 H A M3 Gt -¥E)13.39

[394H]) ( -3.2 m)
1[0 4] 8529 #& 1= (WFE745) 12, 67
2[ 814080%% A 1B &l 2 (ke -#%E)12. 74
3[ 6] 873K — i 3 (a7 aEt)i745)12. 77
A1 2] 40941 JeF 2 (AR -5%) 12. 99
5[ 114416/ & %= K GUREEH- HR) 13. 08
6[ 51253675 )11 & 2 (IInHEF-5E)13.16
70 3] 389 f& 5 K3 (BEM-HE)13.24
[ 7] 42TH B2 (KE&-5HF) Ri5
[41#8] (  -2.7 m)
10 6]1082=73# KX —2 (LR £85%)12.62
2[ 1]14057 5t ¥ 85 3 (II0FEF-5%)12. 80
3[ 8]3051°F k% 1 A2 (aEse-#%)12.91
40 3] 45211 W ¥ Ay 2 (THA-H5E)13. 00
5[ 718408/)N ¥& #h t (WiAKE; - #iAk)13. 03
60 2] 185 % )1l & th 2 (KA -HE)13.06
70 5] 14742 K @ 2 (l0ElH-5%)13. 64
8[ 4] 14644 K 15282 (I0ElH-5%)13. 68

[43%8]) ( -2.2 m)
10 11358237 v—v Z4% 2 (BffeE-5%%)12. 90
2[ 2] 235 )11 4 3 (HBEf2 #%E))13. 06
3[ 4]36813E yT.  F H 2 (HMmm-%%£)13. 14
A0 7145702 K g B5 2 (BHAEH-5E)13. 40
5[ 3] 315655 H 4 K (STAC-#m)13.43
6 6]2524 K (L wR K2 (IlnEAf-%%)13. 61
70 81305675 )il HEIE  (GhEREH-%E)17.59
[ 514305k % K23 (Mm% Ri5
[45%8) (  -2.7 m)
10 4] 45385 1L BE 2% 2 (RITHP-5%)12.98
2[ 1118457k ] BEfEth 2 (N -£5E)13. 25
3L 7] 50k K F3 (nmH-5%)13.39
40 2] 178/NB8 KR A2 (BFAT-5£)13. 42
5[ 3] 434 A  E2 (II0EZF-5%)13. 67
6[ 8] 211 = F ¥R K3 @EE_F5£)13.73
[ 5] 401K H # A3 CFR% i iR Ri5
[ 6] 426%% H 15 EH 2 (I0EZT &%) Ri5

[36#8) ( -47 m)
101 6% & f K3 Ehnp-HE)12.83
20 2] 1268 K 2t 3 FRIFET5E)12. 92
3[ 5]2845 H H ME A5 (FEREH-HE)12.93
4[ 7]40688K H 1F K 3 (Hf#ki-#5%)12. 94
5[ 6]4300i% = + & 2 (AHE-%E)13.13
6[ 8145561 W, i 3 (GERT-#E)13.16
[ 3] 1015 AR #k B (SEER-5%E) Ri5
[ 4] 13248 K 1& M 3 (FTRAFRE-EE) Ri5
[38#] (  +1.5 m)
1[0 2] 766 EHL {5 KR8 3 (RAMEHET5%)12. 35
2[ 613039 i B A3 (BE%E-#E)12.58
3[ 8]2479/N$% E#k 2 (P -HiE)12. 84
40 1] 2933E #  E3 (WEF _F51%)12.93
5[ 4] 5024~ &F 4B k3 (v -£%)12.96
6[ 5] 14/ k E iz (HEERH R 12.99
[ 3] 270k /Aff Kt GR350 Kis
[ 7] 2375k {5 =& (FEERGHE) RS
[40#48) (  -3.1 m)
1081 1711 s A #3 BFH-£5E)12.77
2[ 111244 5 I8 v K 2 (IInERHB-#5%)12. 89
3[ 31564175 . — Kt 2 (IInhivE 5E)12. 98
A0 AN14TUR A RE 3 (RADH-5%)13.09
5[ 5119057% H ¥ K 3 (BRIAT HE)13. 11
6 7] 7013% & 2= A 2 (RASEH5%)13. 33
70 6117333 M 4 & 2 (HEE&-HF£)13.51
[ 2] 287 1L W& # 3 (RS -5%E) KRG
(4248] (  -1.6 m)
1[ 8J1832[] A Wt 3 (WA -HiE
2[ 6] 4467 L 1H H 3 (RITHT-HE
3[ 1119021 = &3 (BMAT-HE
4[ 3] 4487 B St ak 2 (ZiTHA-HE
50 5] 43085 K & &= 2 (INEZT-HE
6 [ 4]4548F7 & B3 (BHAP-HE
70 214566/ %8 B N2 (5HRT-HE
[ 7] 8234 [ E 12 (HIEH-HE
[44%8) (  -1.0 m)
102] MK W32 WFABEE-H%)12.30
20 7] 1860 B &G 2 (B -£%)13.09
3[ 1J3050 Kk = 2 (BEXAE-#5%)13.10
47 5] 516 & R ik 2 (0 LE-HE)13. 11
5[0 8] 249/ K FERES 3 (lpgk-#%%)13. 37
60 4] 21%H 4 1H &3 Emd-5E)13. 47
70 6] 15 2 K& (BEER 31412
[ 3145640 & H ) 2 (BHHD-BE) RIS

(46#8] ¢ -0.7 m)

1[0 8]183542 it L M 3 (WA -£7%)12.90
20 7]1831 5 W HME#E3 (WAEH-RE)13.19
3[ 314562411 MM 2 (GERH-5%)13. 38
41 4145495 A I k3 (BHRP-FE)13.39
50 1] 187t W R ¥ 2 (/9 -5E)13.53
60 6]12624F & M3 (HIEH _H-5%)13.59
70 5] 3943 11 4 &1 3 (fARP -5 1) 13. 62
8L 2] 8217r N £ 1 (REPER- %) 14. 33

12. 44
12.99
13.07
13.13
13.30
13.33
13.45
Ri5

— — — — — — —



[47#8] ( -3.9 m)
104 13 M % A2 @i -#%)13.33
2[ 3] 826 & {%émm (A -5 %) 13. 88
3[ 5] 2205k & o 2 (afhire-£%)13. 97
41 114563/ I He A2 (BEED-%E)14.12
50 2] 450/~ L 9?]]2 (RITHT-%TE)14. 22
6[ 6] 523 = J #n = 2 (FETH 5%)14. 66
7077 VAR CHRES 1 (i inEbri74i) 14, 68
[ 8] 440F & IE ft2 (RE&E-#HE) R
[4948] (  -1.0 m)
1[ 3] 4454k i B “F 3 (RITHH-5E)13. 34
20 2] 1507k H 1 2 2 (IlnEff-%5E) 14. 01
30 1] 224%% W #%& 3 (IAfhlrH-5%) 14. 06
A0 8] 149%F L 2 (InFlks-5%) 14. 60
504] 43310 ™ #E 2 (InfEFH-5%)14.70
[ 5] 56Kk )1 K A2 (lnEH-%E) Ri5
[ 6] 4414 H B3 (RITHP -5 E) RiF
[ 7] 1485 M B th 2 (IpEfd-5E) RiG
[5148] ( -2.3 m)
1[0 2118434 = K #®#H 2 (NAF-#E)13.42
2[ 811910 4= KE K2 (RMA+-#E)13. 65
3[ 5] 183 A+ H {F2 (BjH-H£)13.98
40 3]1844 55 1 & A 2 (WA - E) 14. 01
5[ 4]14294)zy=v £7v=¢v7 2 (FAFER -5 1) 14. 01
6[ 6] 385EF H 72 FA 2 (MR -Hr %) 14. 20
70 1] 8291 A& B3 K2 (AEF %) 14.90
[ 7] 84TH O (E Y3 (HEF-HE) Ri5H

[53%8] ( -1.8 m)
1[ 8118427 'E 1% 2% 2 (NRH-#%)13.37
2[ 2] M3 KB B & 3 (RITHP-%E)13. 88
3L 71 15EAR KK 2 (FEMd-HE)14.07
40 4] 825% MW 2 (HIEH-HE)14.45
50 6] 2275 M 22 2 (Infhard-5E) 14. 48
[ 5] 479K 1 3 A3 (BEHF-HE) K&
[ 3118364 © 723 (NAH -5 E) Ri5
[5548] ( -5.6 m)
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6 935 ALRE I 4 (KA -5 £)10.97 +1.1
6 18302 filg 2 AN 1 CRURRREAR-=48)10.97 +0.9
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3[ 2]3048%% il #& A2 (BERE-HE)13.91
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4 4]1534778 i 1 B 3 (REkMEE-5E)12. 71
50 3] 84385 K FHF FH3 (HIEH - iﬁ£>13 53
6 2]1476m1 #F  B5 & 3 (KANH-5%)14.19
70 7] 849 O B A 3 (AIEH-#%)15.08
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bn 2 (FHEER-%E) 23. 96
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fnE GELFTCHE) Rig
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2[ 2] 543H I
3[ 4127114+ H
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70 111228% H
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Z R 2 (HEFKHR)21. 82
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Mt 2 CEEK- %) 22. 32
(Accel TCT#) k15
N1 GURABER B0 Ri5
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P g GO 5 22. 49
B K (BloomP]T5%)22. 59
&t 22 (EE®-5%)22.89
B R 3 (FEER-#E)22. 94
BB (+H&SC-HR)23.10
Ze N3 (i -5E) 23. 32
4 CER LR i) Ri5
B (STAC-T#)Ri5
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HE FII 3 (EFPA-%%)22. 80
P HE 4 (MEFK-5E)23.05
w3 REXE-#E)23.07
5L BA 3 (amvE-%E) 23. 34
ML= 3 CREBA T -5 E)23. 34
Ay 2 (i -%%) 23. 70
K B3 Auas-5E)23. 74
W =F 3 (IO g5 ) Ri5
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W b3 (EFERK-5E)22. 46
WA (auiProject£E) 22. 64
Ui 2 3 (llomvE-5E)22. 85
R (WENIER#E) 23. 02
4 3 CKE s -5 %) 23. 51
i B 1 (BFPiK-5 %) 23. 55
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[ 213622/NA7J50 Wedi 2 (RHHRRA &5 Ri5
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2[ 7]1230F iT
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5[ 8]1209& i
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8[ 6] 44915

+0.6
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i A 2 (ot 5E)22. 80

FE 2 (IIOmviE-5E)22. 96
WSR3 (o 5E)23. 24
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w2 Jllndts-#%%)23. 82
M — 3 (KEE-HE)24.13



[11#8] (  -1.8 m)

1[ 8]3644E iE 75 th (A s h-JLfE)23.27
2051 511L— 773 (INTE-%E)23. 48
3[ 113043 B # th 3 FE¥E %1%)24.08
4 6]45481R == K F5 2 (2fUs -5 %) 24. 36

[ 7] 4428 g =R (RR<Af-2000) B p 3EHE

[ 2]36237& Jf & M 2 CRAFERA & E) Rix
[ 3] 21938 & 4 3E  (BloomP|T4%) RiF
[ 4] 34#ipE Wt CURBER R Ri5
[13%8) (  +0.2 m)
10411229k A z22 (niiig-%E) 23. 46
2[ 3]132664% = I Fm (WANER-#HZI) 23. 63
[ 7116728% (L M & (RMKER-HR)23. 96
41 8] 5034 A it ik 2 (BipE-£5F)24. 54
[ 111681 H 3t =X 2 EEFAEK-HE) RiG
[ 2]36133 Bk ¥ K 2 CRAWEA & E) Ri5
[ 5] 524 - 32 (N TE-HE) Ri5
[ 6] 7514 % Al 3 (BE0ATEYHE) Ri5
[1548]) ( +0.1 m)
10 614547 JF 3 (5HHP-%%)23.52
2[ 7]4073%% A B2 (ifsbi-5E)23. 78
[ 4114754 v 43 (KAnH-5%)24.09
41 5]5311ER KR #h 1 3 (BAREE5E)24. 17
5[ 8] 7587 & HIt Ei 3 (RRHEHT4+E)24. 56
6 11104458 & 5 K2 Bk & - £ £)24. 86
70 2135805k % Bt =F 2 (BfEE-5%%E)25.13
[ 3] 167 (b fif B 4 GERRMER-H1) Ri5
[17#8) (  -1.6 m)
10 6] 42460 S 472 (KEm-57%)24.29
2[ 4] 868=71V 7 &3 (WiIHEL774E) 24. 64
3[ 5] 287'= b HEKH 3 (HEH —f-fi%)24. 84
41 TIN04EAR e RES 2 (LR -5 %) 25. 44
5[ 1110400 B & = 2 (§k & - £ £)26. 03
6 2]4079%% O 3z 2 (ki % %) 26. 09
[ 3140706 & Bt It 3 (ffEhi 5 ) Ri5
[ 8]1274%% [ 33 BEF &%) RiF
[1948]) ( -1.1  m)
1051324110 W 12 1 (AEREE %) 25. 02
2[ 613249111 B 1K K2 (WEAREHE)25. 12
3[ 8]1903 (L &= 3 (EMAH-%%)25.39
40 7] 85410 W M K 3 (BAXET-5E)25. 39
5[ 314068 M 1E ft 3 (fifn*he % %) 25. 97
60 4] 49008 & F13 (llnmd-#5E)26. 04
70 2] S4fp@ HEZJr 2 (llAmES-5E)26. 30
8[ 1] 254w 3 &k K2 (IInEFf-5%)27. 38

(21481 ( -1.0 m)
102] 125 M F#E  (BMH AC-Hx)25. 84
20 61190211 & 55 3 (BRA-%E)26.69
3[ 5]4550%F BF X H 3 (BERH-5%)26.93
4 41540450 B 75 o€ 3 GWERE%5)27. 29
5[ 3] 800Bd 1 f& K3 (HlkH -5 E)28. 45
6[ 8] 226/ jiE 1F & 3 (IlOfire-5%E) 28. 82
[ 71190578 M ¥R K 3 (BRAT %% Rigj

[1248] (  +0.3 m)

1[ 5]23724aA M —H8  (STAC-T#)23.23
2[ 6130557 i HE Ik 2 (BE%mE -5 E)23. 49
3[ 4] 4347 £ FE3 (KER-HE)23.62
4[ 31304148 3 (FE¥E %) 23.67
50 2] 1229 & Fn )k (THERER-T1)23.79
6[ 8] 428/ #F IE Ik 2 (K= -#%)23. 81
70 111081 — > K 52 (Fk & - ¥ £)24. 34
8L 7] 124 YA 3 (KFH-557E)24. 83
[14%8] (.  -0.1 m)

1[ 7]35770 A~ ¥k K 2 (Ffpg @55 %) 23. 63
2[ 6] 4141 A& HE  GEvAS-2#%)23.97
3[ 3J3059F AF FH % 2 (FERE -HE)24.23
41 1710425 /% 6 K 2 (BR & - 57 £)24.35
5[ 413168 K F # 42 (IlnidE %%)24.59
6[ 21103352  F #f3 Bk & - 85 £)24. 67
70 51540142 5 il .0 3 (BHEkE 5E)24. 81
8[ 8J419145 K — BE  (Gllin/vFACHH) 25. 31

[16#8] (  +1.9 m)

1047203 5 B 2h 3 (RE M -5 ) 24. 48
2[ 7145494~ K e 2 (e - f7 1) 24. 58
3[ 2] 7528k B = K3 (RRASHT-HE)24. 62
41 614077+ % K& 2 (ki 5 E)24. 65
5[ 3]53124~ AF  uft B 2 (Wh#E 5HE)24. 89
6[ 8] 517/ M 5 A2 (INTE-5E)24. 94
70 56]3037-6 J % (KR #E)25. 82
8[ 1]4030% M W1 B 2 (IR &%) 26. 52

[18#8]) ( -1.2 m)

10 8]1907 Kk #f A3 (BHAY-5E)24. 88
20 7] 2905 )1l KAK 3 (HE% _h-%%)24. 88
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105] 34¥ ¥ &3 (Fnd-%E)56. 74
2[ 611903111 /& ¥ 3 (BRAT-5%E)57. 66
3L 4115273k Jii & th 3 (IR Eh-5%)59. 09
41 3] ATT~FH5 KRR 3 (BE R T -5%)59. 45
5[ 7] 520k &% K32 (IR LR -%%)1:00.03
60 2130128 JI1 47 & (e -5 %) 1:04.72
[ 8] 69[MA H#EA) 3 BIRHT HE) Ri5

43 O
[ SRy e |

1 114881 BERES  (Accel TC-TE)48. 68
21201 /N3 BR K 3 (llpmaie-#%)49. 30
31206)11 . K — 3 (llAmiim-5+%)49. 58
4 221%F 1 Fn % (ADLER-#%)50.09
5146077 H ¥ & 2 CRETRRE-#®50)50. 19
6 1202 % f& & 3 (IlAsieE-5%)50. 21
7 304t F o (LY ZX-#E)50. 56
8 560X B fi K2 (5 K- #0)50. 58

BF 80 0m REE(1440)
(1£8)

10 4]1201/h 9 BR K 3 (A -5E)1:52. 14
2[ 7] 503/m gk WE & (BSPTALEy))97EE) 1:53. 95
3[ 5] 3BEH &EF WVzyA#zI)1:55.78
4 3111808 & & (HE/77-%%)1:55. 86
5[ 17120258  f% # 3 (Ilnwig -%%)1:56. 77
6[ 212713 4 [l 1 &k 2 (HEk K- #50)1:57.55
70 811395th kF 3z #k 4 GRAEK-#)1:57. 84
8[ 6] 1124F 1w HAKRES  (LEMER-%%)1:59. 42

[3#H]
1[ 8]60974x g i 7= 2 CREKZ#H-%%)1:57. 65
2[ 21316042 8 & 77 3 (lndg-£%E)1:59. 06
3[ 4] 48=>AK IExE (HEvAI-R4%)1:59. 47
40 6] 2027 A kX (AR %E) 1:59. 68
5[ 5] 23/t HE M (+5£SC-#Hr)1:59.69
60 712220/ M K HE3 CRIEAZH-#%%)1:59. 71
70 3156467 % 221 (nmivE-%%E)2:02. 75
[ 1] 90 H K23 (llliE-5E) Ri5
[548]
1[ 3]3169/K = = 5 2 (JIlndtm-%%)2:00. 61
2[ 8]27T19R W K 2 (MEFK-#%E)2:02. 89
3[ 5] 25#A BEKHE  (+5SC-#H1)2:02.95
41 21584754 7k KB 2 GUERH-Hx)2:04. 48
5[ 6] 4435 Pt K3 (KEH -£#5)2:09. 71
6[ 7] 24K H Sl (+5£SC-HK)2:10.52
[ 1] 442N 1 Al K3 (KRE&E-HE)RiG
[ 41268711 1 B b3 (FriRfis-#%) Ri5

(12%8)
10 7I211282 & F 3 (iifures - 5 £) 54. 03
20 2]14754: + ¥ &3 (KRB A5 %) 58. 07

3[ 5] 188HT H 2 (BAd-%5)1:02.90
40 4] 10+ g =2 (G- 51)1:03. 92

5[ 3] 1814gd iz P -%E)1:04.06
60 8] 800R8 1 & K3 (A& -5%£)1:06.73
70 6145655 M [ Je 2 (G5 %£)1:08. 95

[2#8]
1[ 3]1426 = %%
2[ 713156 JF

ME K3 GI##Es %%)1:55.73
JIF A= 3 (llndks-% %) 1:56. 87
3L 2]2214%8 A #F K 4 CRERZE-%K) 1:57. 21
4 11554240 35 16 958 2 CEEK-£E)1:57.32
5[ 8] 561 KALR & (FEililEH %+%)1:58.07
6 41256205 & Fh 3 G KRE-#iA)1:58. 57
70 5J2699 K N Ji#F ¥ 4 (BIEFE K- H#7) 1:59. 50
[ 612708 A #F & K2 (HERK ) RiG

(4%H)

1[ 3130934 » BF %k
2[ 4] 850N B & 2
3[ 718221%k & mh A& (iAKW -#ik)2:01. 43
41 51540517 JIl A &2 BRELE %%)2:03. 52
5[ 6] 52348 )L & =} 2 (JIN L& -%%)2:03.59
6[ 8]3035%T H M S} (uEbEh-%%)2:06. 63

(B E Rt - i £) 1:59. 32
(TAv7117EL)774%) 2:00. 44

T0 2] 4TR #&H B (BEREE-%%)2:07.07
80 1] 14T/NAEJ HES (THERER- T38)2:08. 14
[(6#8]

1041217 B 8 E 3 (MEZKH5E)2:00. 56
20 6]1204%% 1k A3 (IlAffizg-5E)2:02. 97
3[ 3] 6834k M H& A7 iUl Hm)2:06. 24
41 2]143445 5% W R 3 (U#HEE %%)2:06. 59
5[ 17403188 .0 # 2 (II0HE-%%)2:06. 93

[ 5]2688% [l K ik 3 (FriRfE- &%) Ri5

[ 7]2017 K W 78 82 Bk & - 55 F) Ri5

[ 8]4245/5 H K &2 (REER HE) Ri5



[748]
10 6]1221F &  #r2 Jinmig-%%)2:04
2[ 112218%5 H1 £ EL 4 CRERZH %) 2:05
3[ 312224/)N - BE i 2 CRERZH-5%%)2:06
40 5] 36/ #k 5 (e AFIL-ATF)2:06
50712204 )1 By K 2 (IAfivgE-5%E)2:07
6 2]4025%8 (L ¥ K3 (JlnHE-%E)2:11
70 415108 & i i 3 (BRUHEE-HE)2:14
[ 8116924 W #f 2 EEFAK R RiG

(9481

10 10122670 ¢ Bz 2 (IRifiveE-5%)2:08.
20 4] 264 JF  # (F&SC-HA)2:08.
3L 2] 27yt K — (F&SC-HA)2:08.

A[ 5]11404/)s Bk Bh A€ 3 (IINFKH-45%)2:08.
=2 (RAEHRE5E)2:09.
6[ 8140657 —A1% by Wi 2 GEfnp-#%%)2:09.
70 3146987k =B 2 (BRA&E-#E)2:10.
(BMH.AC ) 2:22.

5[ 7]36155F %

8[ 6]
(11:48]
1[ 5]
2[ 4]
3[ 8]
4[ 6]

137 B W
42975 7k
15788 3
1457E %7
22115
5[ 7] 7513 &
6[ 2] 51470 4
71 3]1501 5
8[ 1]2868%k LI
[1348])

1[ 5] 4555 15
2071 125k &
3[ 214573 #F

5[ 6] 71675 ik
6[ 3] 7214 &

[ 41454657 )11 oL+ 2 (BEm-&HE) Ri5

2 (Kem-5%)2:10.
75 k3 (Ru)llng-5%)2:13.
=k 2 (linsld-5%)2:14.
i 2F2 BPEH-5E)2:14,
& 5 3 (RANER 55)2:14,
Bi 4 3 (JINTE-H%)2:14.
B fd 3 CRRUTH%E)2:16.
filt K 2 CRRBtRA5%)2:23.

K3 (GHET-5E)2:25.
B 77 2 (BN -5 E) 2:26.
KB (BHEP-5E)2:31.
4 8] MBHHGH WA 2 (UEHEN -45+£)2:38.
K 2 CTEHET-5%)2:50.
ZRIK 2 CIHFET %) 2:56.

.53
A4
.36
.54
. 54
.95
.20

07
63
18
80
34
62
47
22

65
o4
32
99
68
13
44
07

13
28
18
85
37
99

AP

s 3

11201/ B2 K 3 (P -#E)1:52. 14
2 50300 & BE & (ESPTAVEy))97#E)1:53.95
31426 = %% Ik K 3 (GLEMER -H£)1:55.73
4 3BEMH EFE (WWzuR-mA))1:55.78
5 11808 2 (HE2 7 7-3Hm%)1:55.86
612027 & & 3 JlOmvgE-#E)1:56. 77

7 3156 [ H

JE A= 3 O A e -y 1) 1:56. 87

8 22144~ A H8f K 4 GRFERZHE- 790 1:57. 21

(8#8]

1081201311 & L K 2 (ki - B ) 2:08.
23 (THHIER- %) 2:06.
3[ 212015 kN BEKHR 2 (§k & - £ 1) 2:07.

3 (REE-5%)2:07.
He2 (LR -5%)2:08.
YR 3 (BRHER-#HE)2:10.
(TR T3) 2:12.

2[ 41143042 1L

41 511724k 4
5[ 610833z i
6 3136064 ¥
1L 7] 198 £
[ 1150298 A&
[1048]
1[ 5128719
2[ 4] 869%% K
3[ 1] 15685 K
41 2] 225% E
5[ 3] 682= i i
6 814061/ &
70 6] 349 %
8[ 7114285 1%

(12:8]

10 5] 29k 2
2[ 3] 513[ IR
3[ 41173874 H
4[ 715132 FF #f
5[ 6140537 27
6[ 2] 7194 7

fr R
KR 3 (HRIER HE) Ri5

TL 1) 1783 R 73 (A -55%)2:34.
[ 81138311 E .0»i# 3 (MR -5 E) Ri5
[1448])
10 8]1725V6 [] & 53 (RMEm-HE)2:12.
2[ 41402677 H £ + 3 (NEE-5E)2:30.
3[ 5] 2221 b 1 2 3 (IlOffird-5E)2:31.
AL 711910 4= HE K 2 (RRIAH-5E)2:40.
50 3] 7118 fE  ME b2 (r#gE T -5+%)2:46.
6[ 6] 713/ Ak B A2 GrdEd-%%)2:59.
[ 2] 8487% K w =3 (AW -HE)RiG

B 2 CRHMIRS AE)2:08.

k4 (AR - Ri) 2:10.
By 3 (RuIA&E5H%)2:10.
3 (Il Er-5%) 2:10.
CRORBER) - ) 2:12.
T2 (ke 5 %) 2:17.

fie 3 FNH -5 E)2:19.
¥ K1 (LHHIER 55)2:26.

e I3 (Fndr- 5 ) 2:17.

BE3 UIIN TR &%) 2:19.
e 5% 2 (R - 55 1) 2120,
K3 (kR 5E)2:23.
H 3 (ke 5 %) 2: 25.
P 2 (WFRRRE-HE)2:28.

55
48
04
90
25
86
35

33
18
42
68
47
95
48
86

92
46
56
03
60
33
21

25
07
13
11
88
84



BF¥ 1500m REOMA)
[1#8]

1[0 5] 2448t A # 5B GrovinglANER45) 3:59. 25
2[ 1128461 X M 4 6 (FElEfH %%)4:00.12
3[11]15101 ¢ #8 5. K3 (R & %%)4:01.87
4[12]13604/)s 4k 16 Ht 3 (RHHEA%E)4:02.59
5[13]13156 #+ JIE 4 3 (llndtE-%%)4:03. 44
6141309342 » B Fx  (aElEW-%E)4:04.32
T017]2214% A& #F K 4 GRERZH-%%)4:05. 10
8[ 91222611 J HE — 4 CRERZH-T3)4:05. 84
9[ 3] 748K & — HE3 (TRERA1;R)4:06.13
10[18] 20270 A Mt Kk (llAffikEH- &%) 4:06. 38
ML 7] 3= &K (FEEER TE)4:08.53
[248]

10 6] 247 K Hu3 (EfES-5%E)4:08. 44
2[ 9110234 = % GUikER-%E£)4:11.14
3[18]36161 1B 15X EH 2 (RAPKE %%)4:13.78
416127665 B +hH K 3 (MEFEK-HE)4:14. 51
5[ 3]2215fh #F 1t & 2 CREEAZH-T%)4:14. 60
615131604/ 3% H Ay 3 Jlndkm-HE)4:14. 11
70191222155 H B #h 2 GRER"H-%%)4:15. 01
8[ 8] 3EM ¥i&3 (WiEm %E)4:16.68
9[17]5104— / WA 1B K 1 (BRIUHAE %) 4:16. 80
10[ 5] 546%F 1 K3 EERA-HE)4:17.77
112011218 s K B5 2 (IO -#ik)4:18.10
[3#8]

103112204 )11 ® K2 (lomveE-5E)4:18. 14
2 [12] 19145 1| &4t 2 (RRAS -5 E)4:19. 30
3[ 2]1224iT W & A 2 (IlATfivéE-%%)4:22. 20
40 8] 2710 W BB K3 (HmER-%E)4:22. 21
5[ 415402 = %5 fi & 3 (FHELE 5E)4:22.82
6171122397 & E 2 (Inhivg-%%)4:22. 87
7015]2016 8 7 K a2 Ok & - £ 5)4:23.00
8[ 6]5105°Kk ¥ & K1 (BRUAEA f%)4:23.50
9[13] 36/ #& 15 (e Af-#%)4:25.23
101114827 F 1 & ik 3 (IE#EE-%%)4:25. 98
[4%#8]

1[ 61510648 0 #% % 1 (FRUEE%%)4:29. 97
2[ 8] 58fEx K EHK2 (HmEs #%%)4:30.14
3[14] 9FERE = K3 (FEM-#1E)4:33.12
41 2154054 Il A &2 GUHErE%%)4:33.56
50181110685 A B 12 (FE&-#1£)4:33.92
61611222 H  #j s 2 (IlAfficé -5%)4:34. 48
TL15] 132 4% W &K 2 (Fkm-#i1E)4:35. 30
8[ 9] 82% )1l Fnwk 1 (if%s-%%E)4:36.90
9[13]3153/0 &  BR3 (pdtm-%E)4:37.14
10017] 6577 JII ik 3 OUBIRE+-%%)4:38. 32

1201012175 B ¥ & 2 (iniicg- &%) 4:08.
13[ 8] 7551 A #H 55 3 (hdhim-#5)4:09.
140 4] 55 0 HEH  (HREMER TE) 411
15[ 6] 7524« & F& FH 3 (hh¥hE-%F)4:13.
16 [15] 153 ] & #f 3 (Ru)inE-%E)4:17.
17021122191 )11 B A 3 GERZH-#£)4:17.
18 [19]5643#4F ] %k #c 1 (llnmvE-5%E)4:21.

[ 21516488 & & (KEEE-HE) Ri5
[16] 8827 ik Mk K&  (QUEEMER-BT) KI5
[2015102%2 yT. 1% % 3 (BRUHE BE) KI5

120 2] 750K & #r K 3 (he¥ka-%%)4:18
13[12] 2011/ R H & 2 (bR =1 - B ) 4:20
14[10] 279 & K — (+&SC-HR)4:21
150 7] 3078 &  BE2 (HR%Es-#%)4:23
16 [ 115645/ B am 1 (DM -#%)4:24
17016117 58 2h & 2 GER - H) 4:26
18[21]1221'F 7k #r2 (InivgE-5%)4:33

[ 4112033 T BH =k 3 (IoWvaE &%) Rig

[13]5103%H & B¢ 72 (BRUHEA & F) Ri5

[14]5110 (L IR 2§ & 3 (BRUEA & E) Ri5

M6l EE2 (lnkE-sE)4:29
12[10] 333 2 A 2 (Hf%EeE-HE)4:31
130 5] 206#4h v & 4 (l0ifikEd-%E) 4:32
140 7] 16831 & 03 (EFEAP-HE)4:36
151815644 1 £ 72 1 (lniivE-%%)4:36
16[20] 151 F P9 @Ik CRRRER-5E)4:40
17114] 3974% H B (Il 7)) 4:41

[ 1112195% 2 & & 2 (Ilafiva-5E) Ri5

[ 9] 544 & 3 (fhEqE-HE) Rig

[19] 515'F 1 #® A3 (N TE-HE) Ri5

11010] 143489 2K 2 (IAEET-5E)4:41
12[ 540258 1L A K3 (Il0RE-5E)4:42
13[19]2470 W & =} 3 (Pl -5 1) 4:43
14111] 14578 8 I Ik 2 (At 5%) 4:43
15[12] 9035 M #£ A 3 (G & -FE)4:44
160 7] 29/1h#k HE 544 2 (i -5 %) 4:46
170 31361241 (L B2 (RHEAR 5E)4:51

[ 1128678 A% A 2 (RRALLRR R Ri5

[ 4] 430 FF KB 2 (REm-HE) Ri5

[20] 1654 ¢ AR 3 (RuJing &%) Ri5

63
14
05
88
39
63
88

.19
.31
.96
.65
.10
.24
.57

.00
12
.51
.23
.50
.87
.97

. 64
.15
.39
vy
.32
.19
.10



(58]
10 9]
2[ 5]
3[ 7]

7013 1|
225% £
154 42 W
4718] 81%& T
508] 184 MH
6[ 6112257 &

9[ 4]12264M Jt:
10[20]1108 = B
11[10]1205H Ji

[6%H]

10 31172575 [
2[ 9114865 £+
3[14]136137% Ji
41 7136114 )1
5[21] 880%L A&
6 (1812012 % &
70 11 51450 ##
817140281 [H
9[12] 7513 &
10[11] 131[ %2
11[ 6]2401 S 2 4

(7#8]

1[11] 455/Ik 6 A 8 3 (RITHH-5%%)4:39.
3 WFER-#E)4:39.
BE)4:47.
%E)4:49.
5[13]1738N H & % 2 (R & - £)4:50.
SF 2 (RATHH-5E)4:50.
70201 45TARE] BEAHS 2 (Zf7Hh 5 ) 4:50.
78 4 3 EANH - B E) 4:52.

BE3 (N T 5E)4:52,
BEON 1 (BRUEeE-%%)4:53.
11[22] 15984y BEAER 2 (Ry)InE-5%E)4:53.

2[15] 7004@ 0
3[ 5] 83F M IE L2 (HfEs:
4(17] 51985 K £ 72 (0 LaE-

6[12] 4561% A

8 7] 3vFH A
9[ 9] 513 ¥
10[ 1751075 H

(8+8])

10 4] A29REAE Tt

4[10] 228%; &
5[ 714027 /|l
6[11] 158 s
701511915 &
8[19] 14X %
91414573 £+
10[20] 30l &
11[22] 478%; &

Fie 8 3 (WFRm-HE)4:29.
3 (linfirde5E) 4:33.
F# 3 (R)lngE-%%)4:33.
T ¥ 2 (HfEe-HE)4:34.
K223 (BEMNF-BiE)4:34,
& K2 (Ilnrg &%) 4:34.
7[ 312528 KA& EXKER 2 (IlnErh-5E)4:34.
8[ 2]2015 KN BEAHR 2 (§k & - £ ) 4:35.

Bz 2 (InmeE-5E)4:35.
HE2 (ERE-#%)4:35.

JE 3 (IAmE-5E) 4:36.

w52 3 (W mE-HE)4:38.
BE 2 (RAnH-£%E)4:39.
7% B2 2 (RRHRA-%E)4:39.
K3 RAMER%%)4:42.
W A 2 (V7 07ELT74T) 42 42.
B2 2 (k- B R) 4044
it 4 3 (INTHE-%T)4:44,
@ A 3 (Il NHE %) 4:48.
{8 BE 3 (RADEHTHE)4:49.
3 (e -5 £)4:50.
(GAZELLE-T#)4:52.

(F3EbEt F35)4:21.
20 9111058 H  H 2 (RRE#H-#E)4:47.
3[1811248(= B i /& 2 (NS &4 #%)4:53,

$93 (DT 55) 4:56.
£ K 3 (04554158,
Y L3 (R0 %75) 5100,
F A2 (REATHE)5:00.
%2 o (BT - #E)5:07.
¥ 2 2 (BERT5E)5:07.
2 (0555010,
% H3 BEATHE)5:12.

22
19
39
39
61
88
91
03
23
90
21

65
15
88
23
67
03
23
90
86
19
81

15
91
22
91
15
48
97
31
93
35
88

56
13
A
32
98
07
62
13
24
68
93

12[16] 221#%
13[11]10010%% pk 15 A
1411913314 (11 il
150171 25 ®&
16[14] 8721t
17[2114829 F (L
18 [15] 360614 Hf
[ 1] 42975 i 5 fF 2 (RE M- E) Ri5
(1213177 R Y B 2 OllndE- ) Ri5
[13] 446711 FHKER 3 (KE&-#£) Ri5

12[19] 263 #  F ¥R 3 (Ofs-%%)4:53
13[16] 702 H ] J¢ 2 (RRHEHT-5%)4:53
14[15]4057% & & 3F 3 (Wmshi-%E)4:54
15[20] 27/ A3 (lOfEH-5%TE)4:54
16 [13] 906'F LH E£/43 (5% m-#%)4:54
17[22] 16158 3 #& 3F2 (LHFAH-5TE)4:54
18[10] 2942 &2 & 4 3 (FEhH-5F)4:58
19[ 5]5403°7 A fd K 3 (BUFtHE -5%)5:01

[ 2] 272%% & 2 BEFE -8 RiF

[ 4131TAKR E K &' 2 (N -%E) Ri5

[ 8]2017 K H 4 #F 2 (% = - £ &) Rz

120 3] 264%=)1] FHEth 3 (HfEE-HE)4:54
13[18] 125k & Wl v 2 (B -#%)4:54
14191361411 A 2K /k 2 (BR#AEE%E)4:56
15[10] 856 £ F5 4 3 (BAKE+ %%)4:58
160 4] 80 W A 42 (Hfm%ERS %%)5:00
170 2] 321K Ak 3 (HfM%ER-5%)5:01
18[14]15410E H 7% K3 (BWEfE5%)5:03
190 6] 2703 BE K2 (H&EF _F%%)5:03
20[21] 141158 J/U 1 Bf (REerf-A-535)5:07

[ 8]4061/N B ¥ 2 (fif¥h %) Rig

[16]40697% % 1% =} 2 (Hf#h-%E) Ri5

12013] 1428 N
13[ 3] 1308 M
141 8] 164% &
15[ 1]31667L i
16[17] 42K %
170 212523
18[16] 1247 &
[ 512868%k (LI
[ 6]5133{7 #t
[12] 5161 F
(2111381 #+

16 %3 Jlnglh-%%)5:14
B3 (FEEE-E)5:16
B K3 (LHEAR-HE)S:1T
a2 Jlndes-#%)5:21
B 3 (BN -£5£)5:23
B &2 (JInEd-$%%)5:25
R 2 (InERT-5%%)5:26
it K 2 CRHBRE 51 Ri5G
H# 2 (InEka-5F) Ri5
R b 2 (BT 5 E) Ri5
73 (MR - B F) Ri5

Bi 2 (BFRT-5E)4:37.
GRORBER) - 7 5) 4 39.
Bi 22 3 (REREHA HE)4:42.
A3 (IRmET-5E)4:42.
B k2 (R - 55 1) 4:43.
By A2 (ldiies-%5)4:48.
FH 3 (REARE LikE) 4:53.

26
32
83
99
817
11
93

.40
.16
.45
.01
.19
.96
.10
.21

.31
.58
.18
.35
.44
.18
17
13
.19

.14
.64
.40
.33
.43
.57
.16



[948]

1[22]2352H1 28 & fiF 3 (B EkeH-%%)4:48. 99
2[ 3145551 1B &k K3 (5% E)4:59. 33
3L 2] B <F  (iEvrf-24%)5:01. 37
4 5112271% Bk #6 4 2 (II0HNE-#%)5:02. 44
5[12] 435)% & # #f 2 (IInEZFP-%%)5:03. 59
6[ 11455448 | ¥ Jr 3 (BHHh-5%%E)5:10. 24
7111 85/ Z3b 3 (i -#E)5:11.79
8[ 8] 859K 4 Il #& 2 (HARKT-#%%)5:12. 01
9[16]1479/K B 3 th 2 (kApnH-%%)5:14. 28
100 4] 2221h @ &2 3 (IAfErd-%%)5:17.16
1101814572 & = 5 2 (BHHEH-55F)5:17.96

D AN
[] LRy . |

1 244 K
2 2846 HH 1X
35101 & &
4 3604/~ #k

#w B (GrowingMANERHT)3:59. 25
WE 4= 6 (B et -5 E)4:00. 12
BR 3 (AR CHEE-HE)4:01. 87
16 it 3 (FRBEHHE -5 %)4:02. 59
53156 - A 4 3 (Il Adem-#1£)4:03. 44
6 3093~ ~ By (B EpEW - E)4:04. 32
72214488 A& K K 4 CGREKRZH#-5%)4:05. 10
8 222637 - HE — 4 CHEK_H-T23%)4:05. 84

BF 3000m R GHE)
(1£8)

10 1] 561 KRAM e &R 5E)8:39. 51
2[ 6] 753% ® w3 (PREhiE-THE)8:47.29
3[ 3] 2444 A B (GrovingVAVER4E) 8:48. 74
471115101 B 48 - Kk 3 (R HE-%%)8:51.66
5[ 7] 748 Kk & — #E 3 (Pohid T#)8:55. 17
6[ 5] 48/ A # (LEfkER %%)8:56. 20
7[10]3208% ik A s& (BACK-|L%Y)8:58.98
8[21] 34w i B K (FEEEH-#E5)9:07.05
9[17] 306% H ¥ (WERERELDED9:15. 69
10[12]15102%22 1. & % 3 (BACHEE 45%)9:18. 27

11018] 4730 & GFERER-%%)9:22.73
120 4] 41606 36 N3 (hRefhes- 79)9:27. 49
(2#8]

10 715110 L1 7
2[ 91121957 ¥
3[ 8]1218'% g

%5 3 (FRUEE %%)9:08. 26
& %% 2 (IlowirE-5%)9:10. 22
KBS 2 (lnfivig 5%)9:10. 82
A7 2]3118H A& 7F K (BEREH-HE)9:14. 94
5[ 515643FF [ # 42 1 (IlodiiE-%%)9:15. 61
6[18]2011 /& £ H & 2 (Bk 5 - ¥ £)9:16. 02
T22] 1914 KR )1 &4t 2 (BRIAH-#%)9:17.16
8[ 615109 | J& X ff 3 (AR UHE %%)9:20. 65
9[1713620 11 JII  #k & 2 (RHMWEE #%%)9:28. 52
10[11]143100 ¢ K2 (i#FkE %%)9:33. 64
11025712235 & ¥ 2 (IIAhE-%%)9:36. 75
12[10]51034H & B 1 2 (BRIUHE-5%E)9:37.12
13[1313602/)s #k 5% K 3 (RAEWHA %E)9:37.29

121914571 + &
13[13] 470%F K
14[ 71184811 ;N
15[15] 2683 %
16 [10] 25404+
17[17] 8614 H
18[ 6] 257%HF #k

A2 (GEAT-£%)5:18.16
5o 2 (BERT-5%)5:21.09
X aE 2 (NAP-RiE)5:21.89
B2 (@A 5%)5:30.90
g S 2 (I B 5 %) 51 36. 69
i K2 (BAERT-55)5:37.68
N2 (IgR-5%)5:42.20
190 91455271 Bk #& X 3 (B¥MT-5%)5:44. 20
[14] 8607 M &8 fl 2 (BAXHT 5HE) Ri5
(2014575 (L1 gy o W 2 (BB R -5 E) Ri5
(21130344~ K 5k (BERER 51 Ri5

13 [15] 5645/ 50 G 1 (Il ATz 5%)9:36. 25

14[16]303558r H A =} (W EEef; -5 %)9:58. 04

150 9] T4z m KRS GrFTiked)-4%)9:58. 18
(191 147/NAEJR BEST  (T3ERER T4) i rh 3E4E
[ 2]5164%% & & CEfE R Ri5
[ 8] 8827 i M & (C0rEfiEh 1) Ri5
(13142334 JF K Fn 3 (RE K& HE) Ri5
[14]4234)F ¥ #% 3} 3 (RERE HE) Ri5
[20] 637 jiE KA (BERER 5T Ri5
[22]142364n K IR 3 (RERA HE) Ri5
[23]42420 W Ot 2 (RERE HE) RiG

14 T14] 143240 )11 = 8% 2 (LEHER-5%)9:42. 66
16[19]2016 4 7 K @k 2 Bk & - & £)9:51.80
16 [15]2045%4 H  #& —  (S0rsifif55)9:52. 19
17012] 20646 7 15 #f  (lAdikEd-5%)10:00. 50
18[20] 1683 #~ 03 (LEAT-5E)10:12.23
[ 1) 1Rkm #Ed (KmEER-kE) & h3EiE
[ 3]42410 & K2 (RERE HE) RiG
[ 414252 f&  BE 1 (KEXE HE)RiG
[16] 75 M BKRR 3 (IBS - 5 1) Ri5
(21142317 3 35 15 3 (RERE -HE) Ri5
[23]4237148 k15 B 3 (RERE HE) Ri5
(241424715 & 22 (REAHE HL) RiE



[348]

1[15] 9F =
21213616 & 15
3[ 6]2355 I fi&
4124112225 4t
50141360775 £+
6 [10] 14281 %
7[ 815030 - #ix
8[ 71 6771 i
9[25] 184 H
10 (2111427 ¢ H
11[ 5136087T I
12[16]
13[ 215029 A<

(4#8]

10 1] 860y H

2[ 411440 )X ¥
3[ 8]36014% i

A0 7] 3974k H

5[1415313%4 #h
6[ 2]1486 5 £
70 912012 BF
8[10]3244 - &
9[16] 1874 &
10[23] 1425111 H

(5#8]

1E &

SE RS ENH-5E)9:
% B 2 (RAfKE%E)9:
Fe e (AR LAY 9:
k2 (IlnmiE-%E)9:
PR OBE 3 (REBHAEHE)9:
B3 (IHHEE-HE)9:
ik 2 (BRUER-HE)9:
iE A GRS HR)9:
KZe3 ENH-5E)9:

R A3 LR % 5)10:
7 98 3 (RAMAA HE)10:

w1 BrRERE-RR) 10:
RIS (BRIEF HE)10:

Mt 2 (et 3745 10:
B — 2 GLEdER-%%)10:
5B 3 (RAEMER %%)10:
(Il AbEg- %) 10:
Bk 2 (BARER 5E)10:
BE P 2 (RAnH-5%)10:
Bz 2 (k- H# $£)10:
i BA 2 (EARR-5E)10:
15 A 3 (Il Kg-%E)10:
fadt T 3 (iEEs -5 E) 10!
11[18] 1438k % 0 2 GiédEq -%%)10:
12[17] 444/ 2B 3 (KE® - -#%)10:

7

43.
49.
49.
49.
o1,
99.
97.
98.
98.
01
04

06.
07.

07.
15.
17.
19.
20.
24.
25.
34.
35.
45.
46.
48.

98
12
21
14
817
83
66
05
91
.29
.19
2]
03

23
38
29
14
24
20
12
84
67
67
68
98

10 3] 132A4kH K 2 (M- #E)9:56.02

2[24] 7017& )1
3[ 2] 12481 ji
41 111423E9 )1

b & 3 (WP -5 %) 10:
Ak A 2 (IIRZa-5%) 10:
Tk 3 (CHHER-HE)10:

02
47
51

.92
.09
.10

5[12] 51945 K 4 72 (I0TH-%%)10:54. 81
61111529 b B A 3 (Il 0 & -5 %) 11:00. 86
T115] 1844 1 B2 (FH-5%)11:08. 75
8 (14112274 & 4 A 2 (IlOiEE-5%%)11:08. 98
9[ 715340t %% BCHl  (77R2REARR)11:12. 68
10013] 228%; v& A3 (IlAfard-5E)11:21.77

11[20] 14397k 27
12 [18] 4069 i%

BN 2 GIEHER %5 11
& 2 2 (e 5 %) 1

126
128

.50
.24

=i bl
[1]

1 860N H
[100])
12355 | {&
[102])
15030 - H  (F f%k 2 (B CHE -5 £)9:57. 66
[105])

1 4065+ —A1A Ny B 2 (GRAIFRE- 5 E) 10:22. 61
[107])

1 6575 JII
[109])

1 9# iz

M2 (7Av74EL77%5)10:07. 23

e (UALEE- 1159 9:49. 21

fit 3 O\IRJR - £%) 10:07. 05

¥ OR3 (En- B £)9:43. 98

14[13] 6577 JII 3 UUBAR+-%%)10:07. 05
15[ 3]5644H £ 7 1 (liniivg-%%)10:07. 79
16 (1811205 J&  JR 3 (IO -%%)10:13. 05
17[19] 2528 K48 S#EARR 2 (0 Ro-#%)10:17. 07
18[23]1433'F M 2 3 (V#HFER #%%)10:20.54
19[11]40654 =22 b B 2 GlfZbi- £ %) 10:22. 61
20[20] 31@E 4G =2 (kR #21)10:25.18
2117136187 JIl I K 2 (FRWHE %) 10:47. 29

[ 113176k A E2 JlndtsE-%E) Ri5

[ 4142481 & M2 (KERGE HE) RIi5

[ 9142351 & & 3 (KEHE-HE) Ri5

(22136054 & HA 3k 3 (REMEE BE) RiG

13[ 5] 196j A<
1412011065 I {&
(24136194 H

(Il Akt % %) 10:56. 08

(R B 50 10:57. 27
2 CRARHA A E) R ZEIE
[ 3]4232 K FnH 3 (KEHE -HE) Ri5
[ 614240 Kk v % 3} 2 (KERE-HE) RiH
[1114243/~ H 16 B 2 (RKEHE-HE) Ri5
[12]4250°F &F B {5 2 (KEHGE-HE) Ri5
[13] 3177 R MR B 2 Jllndts 5% Rig
(151425138 O % th 2 (KEHEE &) Ri5
[19] 515'F 1 #® 3 (0 LaE-%E) Ri5
[21]4244 4 % 1) B 2 (KEHGE-HE) Ri5
[22]4249/%5 5 B ¥ 2 (REHGE HE) Rig

i

13[ 519155 &
141 8112477 &
15[10]2523 [
16 [19]405371] B
17[21]14357% 35
[ 414238 H
[ 6] 3bF5H
[ 9142465 H
[16] 31654 1%
[17] 1428 N
(2271436 %
(23122263 F

B N2 (BRAT-5E)11:32.80
K2 (IIAEHT-5%) 11:46. 62

& &2 (IInEd-5E)11:46. 96

H 3 (Rfke: 5 %) 11:50. 84

o 2 (LEHER-5E) 14:17. 96

B HE 3 (RERE &) Ri5

Fe f8f 3 RN - B &) Ri5

K2 (RERA ) Ri5

i 2 (IR des -5 ) Rig

fh #8t 3 (IR T-5%) Ri5

By o 2 (LEHIER 5 1) Ri5

BE — 4 CUERZH-RY) Ri5

[10]
13244438 Fn B 2 (BB AR&-5£)10:34.84
[101)
1 677% M IE A CROskEl;- #2) 9:58. 05
[104]
11428111 iy 14 H 3 (GICH# s -%%)9:55. 83
[106]
136165 & = 2 (RHERE 5E)9:49. 12
[108]
1360778 #F R BE3 (RHERE 5E)9:51.87
[110])
T 1k & E1 @IA%AaE ") 10:06. 27



(111]
1.36187L )11 HE K 2 GRAMAR ££)10:47.29

[113]

12528 KA KRR 2 (NP B -57%)10:17. 07
[115]

11427 B K #f 3 GLEEE-%%)10:01. 29
[118]

11222°% H #j 2 Jnmie-#%%)9:49. 74
[121]

1 701 I B 9 3 (P - 5 %£) 10:02. 92
[16]

1T 181 6 4 3 Ul -£7%)10:35. 67
[18]

1143885 & B 2 Gr&HEs - -5%%)10:46. 68
[20]

11065 F & 72 28 CREFER - 1) 10:57. 27
[25]

1142369 )1 K 3 (L& -5%)10:51. 10
[27]

1 132K H K2 (P A - £)9:56. 02
[31]

15340+ BrH| (J77R2EAAFR)11:12. 68
(34]

125230 1 B &2 (B -5E)11:46. 96
[36]

1 5198 K £ 72 (Jll0TE-#%E)10:54. 81
[38]

1122746 & %6 & 2 (IR -5E)11:08. 98
(4]

1 1440) wa  #F — 2 I8 -5%£)10:15. 38
(43]

140537 97 & K 3 (Gl Pi 15 %)11:50. 84
[45]

1143508 38 & 6 2 (L8R -5 E)14:17. 96
[49]

1 2444 A B (GrovingVANER4T)8:48. 74
[50]

1 7476 18 %8 N3 (Pshim- T38)9:27. 49
[52]

1 7532 R w3 (Pifim- T73)8:47. 29
[55]

1 T4Z2H fERES  CRF k-5 %) 9:58. 18
[57]

15101 H B B K3 (BRUHE-#+%)8:51. 66
[61]

1 5645 /50 B am 1 U0z -5%)9:36. 25
[63]

1 306%5 M F o (AmiakbE L) 9:15. 69
[67]

1 34% i BOK (MEEEER-#¥55)9:07.05

[112]

11205/ J| JE 3 (NN £%)10:13. 05
[114]

1 3EiE B (et #2)1)10:25.18
[117]

114338 B 28 3 CLEHER-5%)10:20. b4
[119]

1 188 H Kk 223 (B - £ £)9:58. 91

[14)

15313%5 1 #& #k 2 (MARES 5%)10:20. 24
[17]

1 444/8N5 M2 Bh 3 (K'E & - £ £)10:48.98
(2]

11486 5 £+ HE P 2 (RenH-1557%)10:24. 20
[23)

11425000 4 80 3 (r¥ciiis - % %) 10:45. 67
[26)

1124814 i gl 2B 2 QDR #%%)10:47. 09
[29)

1191588 % B A 2 (BREAYH-£%)11:32.80
[32)

11247795 & SR 2 (D& -5%)11:46. 62
[35)

11529 @ b B 3 A 3 (IO B -#5%) 11:00. 86
[37)

12289 #% A3 (NofRErdE)11:21.77
[39)

1 18448 1 EH2 BFH-#%)11:08.75
[42)

14069 % 1% b 2 GlFnsEpe-t5£)11:28. 24
[44)

114397k B 45 N 2 (r#ciEs-5%%)11:26.50
[(47)

1 561 RALE ke FEkER-5%)8:39. 51

(5]

1 1967 A wt (ol % %) 10:56. 08
[51)

1 48/ K #E (LR 5%)8:56. 20

[53)

1 748K & — 3 (hhybim- T4)8:565. 17

[56)

13208 % f 7z (BACK-L%!)8:58.98

[58)

1510272 9T 1% % 3 (BR R -#%%)9:18. 27

[62)

13035587 H M =} (HEREH -5 E)9:58. 04

[64)

1 4788 & B (W ERER-$E)9:22.73

(7]

13973 m B OlAddikER;-%%)10:19. 14



(71] [74]
131187 & & K (W ERelh- 5E)9:14. 94 15643+ il % fd 1 (INTiE %) 9:15. 61
[75] [76]
15109 b J B 48 3 (BROCHA -5 %) 9:20. 65 151101 i 2% 56 3 (R U R 55 5)9:08. 26



[77]
11218 i
[79]
151034 & KE 2 (BRUHE #%%)9:37.12
[80]
1143114
[82]
13602/ #k 5% K3 (RAHHE %1£)9:37.29
[84]

1204578 H 1B —
[87]

120110 - B #2 Bk & - 8 £)9:16.02
[89]

1 1683 #2
[91]
T1914FAR )1 f&fst 2 (RFIAH - ¥ £)9:17. 16
[96]

150298 A& K ¥R 3 (BRCHE-#%)10:07. 03
[99]
136087 JI|

K B2 (AT E-5%)9:10. 82

K2 (LEHER-5E)9:33. 64

(S0 iR %%)9:52. 19

03 (EHEART-££)10:12.23

7k 783 CRHEM S £%)10:04.79

FEEF 11 0mHI0. 914m/9.

[14H] ( +0.7 m)
10 5]1901 & 4% ¥ =F 3 (BRIAH-5%)15.76
2[ 4] 7540t R B A 3 (RHESHT5E)16. 46
3 2] 850F H Fn &= 3 (AMEH-#E)17.39
40 1] 4064 )11 AL & 3 (A _h-#x)17. 95
5[ 8] 7554H A =5 3 (BRHSH55)18. 24
6[ 6] 842F H fi K3 (HiEH-5%)18. 37
T 7] 2647% M J8 8 3 (MEF_-5%)18.60
[ 3] 69fA &HFEH) 3 QAR &%) Ri5
[3#8) (  +0.3 m)
1[ 41456010 #2 % K3 (5% HH-%%)17.53
2[ 81454975 A I K3 (BHHEP-5E)18.13
3L 3] 2= £ & K3 (@&EF _f-5%E)18.77
4[ 5] 8573 S A2 (EAEE-5E)19. 80
50 6] 2549 & K2 (IInZH$-5%%)20. 56
60 711471 R A &5 3 (KAnH-4%)20. 58
[ 2] 858 B} M -k 2 (WAXET-HE) KI5

[78]
112195% % & %% 2 (Ilnifiig-%+£)9:10. 22
(8]
1360145 7. 5 B 3 CRAMMA -%%)10:17. 2
[81]
1 2064f 8 & #F (lomikE-#%)10:00. 5
[83]
1143240 11 {4 &% 2 CLAHEE 5 E)9:42. 66
[86]
13620/ JII %k 3E 2 (RAMEE #¥%)9:28. 52
[88]
12016 7 Kk 2 (b & - & £)9:51.80
(9]
12012/ B % 2 2 (b & - £ $£)10:25.1
[94]
112239 & FH 2 (IPMiE-%%)9:36.75
[97]
15644 {22 1 (JIlnifii@-%%)10:07.7

14m] RB (348)

[248] ( +0.4 m)

10 7] 8551 ¥ K3 (WAEEY-%%)18. 08

2[ 2] 2480 & At K3 (O¥EkF-4%)18. 32

3[ 51405+ & # k5 3 (IlnFgH-5%£)18. 97

41 311900/ B — H 3 (BRIAH-%%)19.24

5[ 4] 763 #E fl K3 (RROLHT4%)19. 44

6[ 8]2527 K WE At 2 (IlpEd-5E)20. 43
[ 6] 25488 1 M3 MEE P55 RIS

I AN

i 3

11901 #; 5
2 1543 ji
3 850% M
4 4560 (LI 1%
5 4064 JIl AL F 3 (FAFE_H-H)17.95

6 855(L1 M i K3 (BAEHT-5E)18.08

7454945 A ffE K3 (GBI - £ $) 18,13 +
8 765 A = B 3 (FAHENN-51E)18.24 +

g =F 3 (RRIAT-KE)16.76 +
e 3 (RAREET-5%)16. 46 +
g3 (H % - 55 ) 17.39 +
#OK 3 (BERp-FE)17.53 +
+
=+

BF 110mHI[1.067m/9. 14m] Rp% (24H)

[1£8] ( +0.5 m)
1[ 5] 9237 (L B (hy7T%5%)14.59
2[ 4] 935AfRH I 4 (FKR[F-HE)14. 61
3[ 7]2084%r B & & 3 (B K1) 15. 05
4 3]3032%F H  EE L3 (BFEXRE-HE)15.06
5[ 8J1730# i  ft 2 (Rpge -5 £)15. 54
6L 2] 47/hH HE K  (BloonP]T5%)16.10
70 11110278 & 3 th 2 BEKR-HE)16.25
[ 6] 1598 By % S 4 (Teandcce | 7%) R15H

[248] ( +0.8 m)

10 5]M918s A — B Gilin/vFACRID 17. 42

20 11741 N B2 1 (=225 KK) 18. 64

3L 313173 i oo A1 2 (IndtsE-%E)20. 94
[ 2] NIk E£1E3 HPER-HE) KK
[ 4136104 (1 w2 CREHER HE) RiH
[ 6177425 1 KR E1 GoviAg 1) Rig
[ 713612 (L 48 ¥ 2 CREHMEE BE) RiG
[ 8]3604%F H ¥R H= 3 (RHEKA &E) RiF

9

0

2

9

0.7
0.7
0.7
0.3
0.7
0.4
0.3
0.7



D AN
s [

1 923% 1 By (by7T%-#%)14.59 +
2 935 ALRH I 4 (FK[F - H £)14.61 +
32084%r BH & & 3 (B K- 5 W) 15. 05 +
430325 R BE L3 (B ENE - £5F)15. 06 +
517304 = s 2 (R Fd e - 5 £)15.54 +
6 47/0hH K (BloomP]T#E)16.10 +0.5
7110278 5k #7th 2 (B E k-8 £)16.25 +0.5
8419185 A — BE  (Alv/v/FACHHD17.42 +0.8

0.5
0.5
0.5
0.5
0.5

BF 400mHI0.914m] R (440)

[148]
10 611206)11 J& K — 3 (iniiviE-%%)52. 60
2[ 4] 63#&ZH] ~ 7 (BiferAC#%)53. 55
3[ 5]2096°4 ¥ & A 3 GHFK-#iE)54. 19
40 3] 965 3% O Bf  (SMARTS-%#)54. 80
50 1] 345 B #®mt (vzv2#z))56.78
6[ 8J1730# = M2 (R -8 %£)57. 20
70 2] 8711+ )1l & # 2 (BIfEK - KPx)58. 65
[ 713602%% 7 $h % 3 (REHEAE BT RiG
[3#8]
1[ 3]13575%% 1E
2[ 71150647 %%
3[ 212566/ &

T R 3 (R -5 %) 1:00. 71

K A3 REHLA&E)1:01.24

mE 3 (MBS R E)1:01.53

41 8J26524k Ok HE 3 (BPrm %5 %) 1:02.02

50 41331984 1 i f& 2 (REREHE-5%)1:04. 01

6[ 512867644 EA 2 (RHALKA 5%)1:05. 95
[ 61286611 fii R 1 2 (RAMLAR 5E) Ri5

4 AN
i 3

1120611 J&. K — 3 (JpmyE- %) 52. 60
2 63KHT =~ (EiferAC-%%)53.55
320967 K & N3 (S K-Hri8)54. 19
4 96 Ot M (SMARTS-#x)54.80
5 34EH ®Lt (LW ZAHE))56. 78
6 17304 % 2 (R - £)57.20
7111300 5 #h A 2 (hisijfifie-#%)58. 35
83037k L 3 (BFEXE -5 F)5S. 62

(2%8)
10 71013m & Al A 2 (-5 E) 58. 35
2[ 6]3037k 1 3 (BERE HE)58. 62
3L 31317304 I ST A 2 (IlRdLs 5% %) 59. 36
41 8] 9045 B fF KRR 3 (5B -#i 1) 1:08. 40
[ 2]5314F8 MR 32 (BARLA BT Ri5
[ 41360352 K A3 (FHORA &L Ri5
[ 5]36104F 11 M2 (RAMKA &) Ri5

[448])

10 2]21149 M & K3 (s -5 %) 59. 19
2[ 5] 426/ Ak it K2 ORE - Hi 1) 1:02. 59
3[ 8211175 M KRR 3 (Hfnm - %%)1:03. 21
41 412560 H 5% A7 3 (BUl @& -3 %) 1:03. 47
5[ 6130587R e K #l2 (ERmE-%%)1:05.83
6[ 7] 521 L g i K2 (N L& -%%)1:08. 44

[ 3] 428t A IE Ik 2 (REm-&HE) KB

BF 3000mSC[0.914m] R (248)

(1#8]
10 1]3603 (L M A1 K 3 (RR#KE HE)9:48. 22
20 7] 35=7H 4nHk (LR 5%%)9:55. 51

B (REkER-5E)9:57.10
KAE3 (B¥RK-5%)10:04. 37
5[ 3131028k H 1% J& 0 (HEFEH-5% %) 10:05. 92
6[ 4] 7524« & A 3 (PR T8)10:08. 87
70161 14w FE (CHERER-=%)10:12.23
8[ 6112178 W ¥ & 2 (IIAiiieE-%%)10:13. 57
9[11] 7851 A 4 55 3 (PrFhem T5)10:15. 02

3[ 5]3061f
4[ 8] 546%% M

100 91 750K & 37 A 3 (heihs T4)10:20. 67
1141122477 1 & A 2 (A -#%%) 10:28. 08
12 [15]25537] H &L 4r 3 (BEVG & - 55 %) 10:35. 59
13[13]3243 K4 dijEss 2 (HEARR #%)10:44. 14
141814696 % % S HE 2 (kA -#¥E)11:28.39
[ 2] 306%5 HH ¥ (WHEERELDED Ri5
[10]12033F = BA b 3 (IAhvE %E) Ri%
[12] 595 H = (WEGkES 5 KI5
(17146971 & 12 (BRG&E-HE) Rig



(2#8)

1[15] 221540 kF i 75 2 GREEACEH-%%)10:12.27  9[ 7] 520k &% K 3E2 (0 LE-£F)11:17.80
2[10]31631L K Fn2 (it -%%)10:33.47 10[ 9] 430 kF 2R B2 (KEm-HE)11:18. 71
3[ 6]3158H M Bt A3 (ndE-£%)10:39.00 11[ 2]11225¥% & 8 K2 (lnofvgE %%)11:19.28
A 372567/ B 22 {82 (BiME5- -2 5)10:56.38 12 411437 1UA £ KER 2 GI#EERE-5E)11:20. 08
5[ 11325511 &y WE < 2 (REAFE 5E)11:07.48 13[12]1344w wE 41T (AT R-¥E)11:31.99
60 8] 52% JII & (BEEER-HE)11:07.79 14[14]2014F H R A 2 G & - £ £)12:20. 09
T011]3171488 ¢ EWE 2 (IlndtE-£%%)11:08.08 15[13]13835— /i f#r  (HERER #5)12:36. 34
8[ 5]14291 =2 K 3 (VHFEE%%)11:13.39 16[16]1964 kI 22 1 3 (B EHEH-%E)13:10. 14
4 N

[] SRy . |

13603110 H FH K3 CRHEHEAE #%)9:48. 22

2 35=JH Ak (LREMkER-5%)9:55. 51

33061fa H Rt (FEREW-#55)9:57.10

4 5467 H K ¥E 3 (BFpik-£#77%)10:04. 37

531024 H &5 0 (B EFEW -5 %) 10:05. 92

6 7520« P& AN 3 (RRFERiE-T3)10:08. 87

1T 14 W oz (ZERER- —5H)10:12.23

8 22154 A fil 75 2 CRER-H-%%)10:12. 27

BF 4x100mR R (64

[148]

1[5 R m - E (3049 = J# 15 B2 304400 3k 18 3}-2-30421% 71 #& 55 3-3032%F 1 BE(»3)41.85
2[(4]EiferACHE( 64MF H—HF - 61810 K - 688 kK ME - 656% W E4AE )42.10
[BIFFER-E=HR (108385 K K & 4-109048 ¥ j & 3- 1107[ M e K2-1103(kE %~ K FHifd2)42.17
A6 BER- B ( 184 1 E K3 21EAR &1 198 E W2 20/ A K E2)42.22
S5[1]RMm A-SE(736m  FH Je2- 173048 2 B2 171255 1172255 B 75 i 3) 42. 85

6 (3] T R-HR( TI6N (L ZE#k4- 72488y K A3 5761/NH 1502 T18/73) KEKEH4)42.90
(2] iRk - Rk ( ) R35
(71 BERE 5 E( ) R 35
[24H]

TsnmE - E (121082 1 A B3 121208 3% [ P+3-1230% 1L $E£2-1206)11 i X —3)42.79
2[6]MauiProject ASE(1125/7 48 Znd 113044 #8 # - 112942 |0 B 1123 K A& # k) 43.40
S[41AMIm - Bk ( 878F8 1 A4 /r3- 876fak Fez /-3 8707 B KHE2- 875\ EM £/ 4)43.48
AP bE-#HE(31754 & M2 315158 [ g =F3-31644 7 ¥R A 2-3152<F 3 22 A\ 3)43. 60
5[7TIADLER-#HE( 2267 7k & - 221610 Fn S8 - 22006 M B9 4 - 22475 /% fig /A ) 44. 81
6[1] LR - B E(1045A RS2 11032 I f =F2-1094F: 5 &3 11095 IR 5 4L2) 45. 23
T3 MeuiProject BAE(11284 Hp 4 11324 % & 11318 i th 112460 B & )46.26
2IKEE ABE( ) R 35

(3#8]
1[410% & - B E(10335% A 453 10387 H

% 5210350 )1 & 3-1043H | B £k2) 44. 52

2 [81FNpE & -5 £ (35718 11 8 £4c3-36722 B & JH3-3673F1 & 1 %3 367571 16 7 K3)44.98
3[6]JKMm B-HEIT20 & FELh3- 171K #HoR 1172388 W Fn#v3-1728%k 75 #C3)45.03

5[2]&Afakh AT
RIVENZYI-1 ¥
[7T]KE& B-HE
[4%8]

15] AR - HE (12032 H A 312058 54 fd K3-1238(£ B} 4 K3-1236 5 F
13266 A s BE3- 1348 s 22 k3 136MTH f=HEI3- 1268 A £

2 [4]FRADFHRR B E
3[8]HES —H-Hik

531l B-HE(4079% O & M2 40675 B8 BE m93-4080%n A (& #if2 407578 15 J# A

6 [2]&AYEEH BT
(71 5% & -HE

(

(

( 264/ 1 A3 2905 M) KI&3- 287k fEKEAS 12742%% [
A6 raRE - B K (429373 #£ N2 430348 j+ 55 K3-43087& [ LB 2-42981% & 44

(

(

(

76651 15 RAR3- TH18 & (& 53

75265 FH EL k3 T5MFRE VER3 762 W MiIk3- T587E & HiEA3)45.93

Ri5
R iz

( )

( )

( )
4T6]iMmAN A-SE(A0T08 B8 FESr3-40736% A 152 40722 W HfE—1B3-4074% £ 48 3}-3)45.35

( )

( )

( )

3p
m
W

- 755K A SE 3 7635 HE fd K

3)45.33
3)45.73
#3)45.82
2)46. 22
2)48.49
3)48.98
) KA&



(5+8)

1[6])%Faﬁ7l<qﬂ~ia*r£<1907§z 1 A3
2[4 5BH M A-%T (454675 (11 & K3
KENALEZSS LR 854IJJEH K3
A[5IKFH ABE( 18600k X {F2:
S[2]kme -8 E( 164 K FH3:
6 (8] 55 B-f5E(4563/N)11 HxAr2:
(31 e AR - B K (

[648]

1[8]ifnm m -5 £ (2119 Ak R B3

2[5]AF A-BE (18354 i

T (
(
(
4[6] BIAT HiE(
5 [4]FAR - B T (

(

(

6[7TINAH B-BE(1841F 2 K2
TI3IKFAd B-%E( 187:H 1 #Hl %2
N AN

l‘ll:,\m

18 £ % 5 41.85
2 EiferAC 42.10
3 & * K 42.17
475 & PN 42.22
5)I B oS & 42.79
6 i M = A 42.85
172 W T K 42.90
8 MauiProject A 43. 40

BF¥ 4x400mR
[1#8]

TAIBER- EF(1103EL AR Hid2:
BX K3
& R 3
e FL 3
Z A

2
HEIR 2

2 (5]l A 2E(1201/) HA
3 [3] AR A - il (180257 A
ALTIRESE ABE( 44757 R
58] i i‘T E(1038#% H
6[2H$m 17304 1%
T06]5E% 30557 i

[248]
18] &
2(5] @ -BE
SM4]KER B-%HE
4[6] 5875 B E
5[7T1 EHFA-HE

[31HintE HE

& (
tqf(

211978 &
10833 i
49 4

o~ o~ o~ o~ o~ —

AN AN

\IL.\|:|

1 5 +* K 3:17.72
2 L1 = SR VA= 3:20. 45
3 AR HE KR 3:26. 36
A FnomMEo&E 3:30.93
5K &= & A 3:31.78
6 K = 3:32.12
T 5] = 3:33. 21
8 £ X &\ 3:34.21
BF ESBk RE

1[28]13038/)N #&  4A &

HHE 3
2l Rpn-BE470M 5 K3
190211 = A3
3947 A Hi3-

- 1835 K

RKES3
HEFE2
M —3-
904 %5 FFRHR3-
11637+ P B A3

1904/)~ 5
4560111 12
8534 H
172k 4%
255 M
4566/~ 42

oy =X

B A2

211074 ik 1B HE3-
18457k [if] By 3-
T4TUR K 33
1912 A /K2
7 B2
& A2:
=R EPA

3855F H
184415 HE

iR B (27H)

109042 71 jili 3

12025 1% £3:
1801 (L1 FH HfE 523
MM FE — 3

10433 F B A2

1724k £
3063 ¥

2113 15
11032 I
4281 f
90577 ik
1647% &

(SetechACEEN) 2m10

CEESRE
N R
JE H61 3-

6 A3
M E 3

%3

B2

FL3
fitt -2
e k2
HE IR 3
7 K3

19015 4%
455362 IR
855111 H
171)1] g

B 1

456241 )11 HEMR K2

21137E 52
1832[it] 7=
14754 +
191178 AL
381dm K

18431k # K 5’\2

182111 H

109247 1]
121178 1L
182475 i

4345 4

10425 #4

1735/ & K2

375455 H

21128

10947+ 5

42975 i
903%E M
17217 1%

7 =F 319008 B — F13)46. 54
L 3-45477 H H3)47.19
PR3 856HEAT 5 3)47. 44
K Ek3- 185K JIl 2 th2)47.65
fd K3 284 & A 3)47.90
45702 A 91 F52) 50. 95
) Ri5
21147F [ 3% K 3) 44. 21
18337 M 2 5 3) 48. 86
14658 K Uil £.3) 49. 29

23 )
)
)
19031 f=  5#3)50.56
)
)
)

Bk 3
ESE L RE
1EER 2
&3 3845F 4+ #3)51.03
184215 = 1% 52)51.28

Bkd 2 1811 8H B Hi2)52. 46

7.
:20.
:26.
:31.
:32.
:33.
:34.

U3
YR 3
£ N1

=3

K2

109111 =
120611 J7.
1831F% &
4435 5
103547 JI|
1725V8 ] /&
HUE13052= A
K3
&3
ARIE2
A3

2114 H
1109/ IR
426/] R
901X ik
168 2

12
45
36
18
12
21
2]

.93
.42
.1
.50
.34



2(23] 5000 gk ZE (ISN0T0KVONOLTES3)
3[29] 63T = 7 (EiferAC-%%)
4126]4544°% i 15 #8 3 (EfE - E)
5[27] 724%% k& GUZERH- 70
6 (241171535 K 15 AREE 1 GRFg s -85 )
7[25]23615C M it (STAC-T¥)
8122110887 1% fd =F 4 WEKR-HE)
9[21] 13147 1L ™ FnZz  (REBAC-HEN)
10018] 11114 T A 3 (WLHmE-5E)
11[19]3155¢ Ff Pt 40 3 (0@ - % %)
12[15] 259 & 53 (HEF_f4%%)
13014111475 B K th 1 (R @ -5 )
14[10]1085 i t-jal Ehf 2 (LRS- E)
15[1111901 & #& =+ 3 (RMAH-HE)
16 (1314556 R i 43 (BB HEH-HE)
1701211256k & B &% 3 @@EFE -1 5E)
18[ 5]1316248 )1l # & 2 (lndkE-%E)
190 7] 1701 K8k 3 BPH-HE)
20[ 2] 824K4 fEAER 2 (A& -5 E)
21[ 4]1082 =78 K —2 (LRH-#E)
21[ 6] 26342 UfF ¥ 0> 2 (HEF _H-HE)
23[ 911900/ ¥ — = 3 (BHAT-HE)
241 3] B3& 4 M EE 2 WWMRERHE)

2m07
2m01
1m95
1m95
1m95
1m95
1m86
1m83
1m75
1m75
1m75
1m70
1m70
1m70
1m60
1m60
1mb5
1m50
1m50
1m50
1m50
1m45
1m45

[ 8] 1051 & & AT  (EhlbEd - #) FE8R7& L
[20] 114242 W Fnoplc OR#bleh- i) edx7a L
[ 11361447 )11 2£ 2 RHENAE & E) Ri5
(1611100 T- & 5 Y3 (EE&-HF) Ri5
[17]3751 =i BB & 1 GRE¥GE-HE) Rig

B ENEBk RE

1[80]3086 1 /& & K (HERERH #E)
2751184948 H K 2 (K- #E)
J[8LI611T R B — &4 CEEX-HA)
4062]2709% & B £ 2 (HEFRK H5K)
5[781142975 7 1 & 1 CGRF K- %18
6[65] 5483% M 5 A4 3 EEHK-HE)
T[72]131684% (LI #ji WH 4 CEEK-HE)
86715647 (L I HE AR 1 (IIAHvE-&E)
9[69]3038%% H J# Bt 3 GiEFm &%)
10 [64]11670/)~ 11 2 =] 2 (BB K- KE)
11[082] 223 J & GURAREH- HR)
12[70]18363 1L 4 ] 1 (RRERHEK & E)
13[76]134873 K & 3 (BIRAF-5E)
14[61]1109)A R 7 H 2 (FRE&E-#E)
15[63]1214 4 ¥ = = 3 (IIAfveE &%)
16 [58]13052 — A& Bk ¥ 2 (FE¥aE-%E)
170 312119/ & Z& B 3 (Hfnmm - % %)
1854131590 A+ & #F 3 (llndba %)
18 (7311314711~ FnZZ (HBAC-HE)D
20(66] 22475 % fm /A (ADLER-%HE)
21[6811035A JII & 3 (k= - #F &)
22[ 1]5350%% 1 & K2 (KELERHE)
23[48] 762 1 ¥ il Ik 3 CRRHEHH-HE)
24 [42] 409E(R)11 el 2 (AREET-HE)
25[53]3756 77 ik B 1 (BEXE-WE)

m07 +2.
6m88 +1.
6m88 +3.
6mb8 +4.
6m58 +2.
6m43 +2.
6m42 1.
6m32 -1.
6m28 0.
6m20 +1.
6m17 +0.
6m15 -2.
6m12 -0.
6m05 -0.
6m00 +1.
5m98 +0.
om96 -1.
om88 +0.
om88 -0.
om84 0.
om/3 0.
om69 -1.
om58 0.
om48 +0.
om44 +0.

£
aup
|

&

Gy

53]

it

Gy

53|

Gy

B 55

O WNOOOCOWPARO—PA~ph~,p,wuJdJoOoO O —= —= =N O wwo

6m83 -0. 1

2 6m/1 +1.1

6m52 +1.0

2 6m33 -0.2

6m39 -2.2



26 [55]1039/ Ak £ 2 (k& - £)
27 [4474553 % ) 1 1 3 (5HRF -5 E)
28[38] M1 i E1E3 KFEs-&HE)
29 [25]3168 A T M A 2 (ot &%)
30[41] 14/hky FEH 2  (BEEE R
31[30]30025F & Bt (HERER-HE)
32[49] 2934k # &3 @FEF_T-HE)
33[32]3039(F ik £ A\ 3 (REXE-HE)
3435140294 ¥k 75 E 2 (D RE-BE)
35[10] 463/ 4k - Fn2 (BEAF &%)
36 [39]45454x H. & K2 (BfRE - E)
37[51] M5EF £ 2 KWFER-&E)
38[27]4301 K A& 15 K3 (FHE -HF)
7NN H A1 HEE-HE)
40[36] 2957% M ME A 3 (BI&H _H-5E)
M[31]3167 gk = A2 JllndsE %%
4246111170 1A B 2 (hvfifig 5E)
43[33] 15 R Kl (HEER #3)
4471111488112 XK 2 (RARH-5E)
4524125324 B B ME2 (IlnEf-5HE)
46 [16] 1790 A fEHF2 (EHERF HE)
47[401407575 % i A 2 (Efnebe -5 E)
48 [23]1244 55 g v /K 2 (2 5E)
49 [43] 404/ BRI 3 (A i FUR)
50[20] 852% (i B3 (MAEET-HE)
51[12] B3w 4 MIE 2 WMRERHE)
52 [13]4550°F ¥ ¥ & 3 (BHH-5HE)
53[26]1107# & k2 (FR&E-&HE)
54[15] 2275 M 18 Z2 2 (JIIAfhEH-5HE)
55[18] 7050 H K2 KPR &%)
56 [ 5]2474% % Dh2 (FlEY-HE)
57[ 8] 250%& 4% &t H2 2 (JIOZHH-HE)
58[ 9] 847H 1 & k3 (HIEH -HE)
59 [22] 54041 B 145 O 3 BUIEA-HE)
60[ 7130567 JII HE I (HERER-HE)

omdd +1.
om39 -0.
om37 0.
om35 +0.
om34 0.
om32 +0.
om32 0.
om31 +1.
om24 0.
om19 -0.
oml7 +0.
om14 0.
om10 +0.
om09 +0.
om08 -0.
om08 +1.
om06 —0.
4m83 +1.
4m79 -0.
Am77 +1.
4m77 0.
4m76 +0.
4m72 0.
4m67 +0.
4m57 +1.
4m50 -0.
4m49 +0.
4md5 +1.
4m35 0.
4m28 0.
4m07 -1.
4m05 -0.
4m05 +0.
3m88 -0.
3m24 0.

[45]30364% A HI & 3 (EXE-5HE) ek L
(57140197 1 7% A 3 (g -%E) BBk i L
(771130504 HH B (SetechACHR) FEERAZ L
[ 22114 B 3% K3 (R e -5 E) Ri5
[ 414293750 H N2 (MR- E) Ri5
[ 6125334 3 — #f 2 (iR EH-5E) Ri5z
(141456400 & H [\ 2 (GHHEP-HE) RiG
[19] 117248 B A 3 (LEAT -HE) Ri5
[21]362185 K M 2 CRHEHA & E) RiF
(281361711 JH 5 7y 2 (RAEHKH &) KI5
[29] 427H F Bi B2 2 (KEE-HE) Ri5
[34] 2710050 [ #8 It 2 (HEFK ) Ri5
[37] 823 M EH =2 (AHIE+-HE) Ri5
[47]4298% A& #ith 2 (R G- E) Ri5
[50]3604F H ¥R B 3 (RRMEA & E) Ri5
[52]3607 &5 B Ha K3 (RHEKA &E) Ri5
[66]36187K 7 4 2 (RAEKE &E) Rig
[59]3601 %4 KM 3 RRIEA &E) Ri5
[60] 4451 %~ K 3 (KE&E -HE) Ri5
[71] 774400 X B F 1 (V= V225 KR Ri5

~N O WPRANOSDHODWPRARLONPRWOLOMOW—=—=W—NPPWDNWOOOARARNWLDWODOLONWDN



[74] 553JF b I =} 4 (FEK-HE)) Ri5
[79]12083°= T fi KRR 3 (FLMK- feff) Ri5

BF =ik R
102811426 % k7 #H #A1 1 GE¥K-#E)13m98 -0. 6
2[30] 602 M E A (BiferAC:%)13m85 -1.4
3[27]4045 #F 44 g 2 (BA7=V2Ak K 13m61 -0. 4
4[26] 724% BE 5 CGROREER- 3R 13m35 -0. 4
5[25] 11012 K B K2 BFEK-#EE)13m32 -0.5
62112709 15 B £ 2 (H2F K- x7) 12m91 -0.5
T[22]14231%k & #h — 3 (REH& HE)12m67 -1.
8[1914232% H /A& 2 (KEHE-%E)12m65 0.
9[15] 512k R O3 (B TE-#E)12mb5 0.
100231141988 W (&2 GRFKR-5%E)12md5 0.
11[16]30344F £ 1% K3 (L% % E)12mb3 -1,
120181303535 1 4L & 3 (BE¥E -%F)12m53 -0.
13[ 8142330t k& K 3 (KEHAE % %) 12m41 -0.
14[24] 551 /L ¥E fH K1 (EEREKA-%T)12m36 -2.
15[ 9125551 Rl B¢ &3 (Bt m -5 F)12m10 -0.
16 [14] 4454 = K 3 (K=& £ %) 12m08 0.
17[10] 5864% & & 3} (HfEAC-%E) 12m08 -2.
18[ 6] 5504 A HE B 1 (EEpK-HE)11m97 +0.
1901713159 A &8 3 (Il Pk 5% %) 11m85 0.
20[12]11043H | 5 A 2 GGk & - £ £) 11m74 0.
[ 1] 518+ W B2 (InTE-%E) iesEhmL
[ 3]2565f% 7k = 3 (Bivam -4 %) FEekE L
[ 41316700 £ A2 (lntE- %% ieega L
[20] 5487 W B A3 @FERA-HE)ECs&xAE L
[ 2] 105(L & & AT  (ERbEd - 8H) Ri5
[ 5] 46K F #2J  (BloonP]THE) RiG
[ 71131 E & 22 RFEE-HE) RIS
[11]13601 5545 KM 3 (RHERA & E) Ri5
(1313607 %7 Ha K 3 (RHMEE HE) Ri5G
(2911682 A 4 B 2 EiTH K 1K) RIS

BT R[5, 000ke] kA%

1[15] 766 HHL 15 KR8 3 (RAAEHTHE) 11m97
2[14] 759+ (L #A B 3 (RAHEHT-5E) 10m94
(12114724 W H2 3 (KAAOH-#E)10m01
41 9]4559 FRJET Y oRER 3 (B AH-5 %) 9mb9
5(16] 12 XK 53 (lOmH-5%) 9mdd
6[13] 760(L I & HE 3 (RAHEHT-HE) 9mO1
T11]18464x K % 2 2 (NpH-5E) 8mdd
8[ 61457042 A i B2 (BB AF-HE) 8m3b
9[ 8] 16:A H A F3 (Ef-5E) 8mli
100 7] 1419 38 w4 3 (IlAsEid -5E) 8m04
11[ 514546 F 11 & K3 (HHHEH-HE) Tm89
12[10] 25& W MK &3 (FMP-HE) Tm76
130 1] 2184 fH &3 EFmP-5HE) Tl
140 4] 3845F & $#H 3 (MR -Hr£) 6m93
15[ 2] 2579F #k 1 AN 2 (IDEFH-5E) 6m22
16[ 3] 407 F % ZF — 2 GAF_4-EK) 5m4l

ERBT FALIR6. 000ke] R

T[1113057#8 A 22 %6 2 (E%m -5 %) 12mb6
2[10] 7736 Iy W K 2 (V=) #Af 5K) 12m38

— OO OO NDNWOOOWONO O



3[ 8]7740JE % 1 (JzAMAAE-HH) 11m63
41 713752 & 8 K1 (i L% 5 E) 11mb5
50 97748 K i HE HF 1 (7= AAF HH) 10m74
6[ 615642/)x kB A 2 (IlATE 5%) 10m65
70 5]11101L £ HemE 2 (ERE-#E) 9m60
8[ 2153454 (LI Bt — 3 (KEEEE-5F) 9maT
9[ 311037+ 1L #it K 3 (B - £ £) 8md9
10[ 11534378 A E IT 3 (KEXKEAEHE) Tm88
1[0 4] 1528 B %3 Wi)loF-%E) Tm68

[12] 1215 &8I Bk 3 (InhivE &%) Ri5

BF fahix[7. 260kg] REs

1[0 6]31354k & K (FEREH %E)12m99
2[ 1] 781%= g @t (IBER- 5 E) 12m85
3[ 4] 5494 F  F =F 2 (BFRA-HE) 9mad
40 2] 60/hH ZA  (AgaiN-THE) 9m22
50 5]1911)11 [ ¥) (TFCHE-#Z) 8m95
6[ 3] 225)5 H vE M (ADLER-%%) 8m93

BF¥B HHEEE[1. 500kg] RB%
10 317748 K M BB 7 1 (9= h AR ) 2Tm25
2[ 1146997 H 1 (BREsE-HE)24m13
30 217740J% 2 21 (DA AR ER) 22m50

—_— - sle
SR EF AR (1. 750kg] RS
10151468148 - W5 8 3 (BRAE-5E)45m63
2[14]17736 1= IF W% K 2 (7=VAAR EK) 40m63
3[11]3057H#8 A 22 %52 BE¥E -%5E)28ml7
41 2110375 11 Mt K 3 (B & - £ ) 23m09
5[0 9] 522 &5 ¥t K2 (InTE-%%)21m78
6[ 11150442 A Z& A3 REHIEHE)21m43
7[ 6] 5166 & & &k 2 (0 TH-HE)20m61
8[ 3]12870° 5 = K 2 (BRHLEE%E) 20m43
9[ 8]3172:& F & Hr 2 Ullndks-5%%E) 18m23
100 41513145 88 & 3} 2 (IInEHEAHE) 17mb3
100 7115028 A 4£ #1 3 (RHHLE &%) 17mb3
[10J1110 10 &% HemE 2 (FR&E-%E) E&EgEL
[ 5]45465% )11 L 2 (BRE -5HF) Ri5
(1212689 P61 1HAHER 3 (AR & -1 F) Ri5
[13I1215 B )1l #rk 3 (Iamig &5E) Rig

BF F#8%[2.000kg] RA

1[ 613096 K 1Kk 1 B G EFeEf- % E) 43m23
20 7] 3148 #hE (VWX WA 36mTT
3[ 51131 8 i QlauiProject2%) 33mb4d
A0 4] 5470 g H 2 3 EFIK-HE)26m02
503119111 1 ¥y (TFCHEWE/)25m13
6[ 2] 45/ W MR (OGS-%KiE)21m82

[ 111768 | (£ B GARKER 7)) Ri5

BF ©UYK[800g] REs

1017] 629 N & (BiferAC-5%)66m85
2181145938 E HE S (F-WFVAHH)65mT78
3[16]40433: BF i =k 4 (HAD=VrAf-5%) 65m74
4115]30433: = FH K (B EFEH-#E)55m13
5[14] 2707k Aff K+ (GRgbeth 5m) 55m11
60131 4fEHA K¥E¥E (K FkE-5HE)46m03



T[12] 743/ )1 E % (HfEAC-5%)39m75
810117290 j#E  H: K 3 (HXFgE - # &) 38m04
9[ 5] 1518 H & 3 Ruling-%%)37mb3
10[ 8] 162 H I Z& 3 (RvJII0FE-#%) 34mb3
MM AE AN Bz GEER-%HE) 34m29
12 9] 60/ W ZEA (AgaiN-TE)34m25
WBL7MTHE K2 GRrEm -5 E)33m72
14[ 6]45484R &= X 52 (5fm- &%) 30m67
15[ 31513455/ EHE=}F 2 (InFER-5%)29m19
16 [ 4151327+ B < #h 3 (IAFHEE-%E) 26m31
170 1] 5224 & Pt K2 U0 T 5% %) 23m28
18[ 211716 A 18 A 2 (RFE & - 5 ) 15m98

ZTF 100m REEQ14R)
[1£8] ( +1.4 m)
10 3] 866H & %01 (Ta7)aEt)i745) 12. 66
2[ 5130477 FHEEMN 1 GERE-HE)12.73
3[ 8] 880&fE A& %2 (IOHVEHE)12. 73
40 7] 28530 K A Mk 3 (BAELATHE)12. 91
5[0 2] 99548 #HETR 3 (AR F KE)12.95
6 6195087 M T = 2 (RETAR #x)12.95
70 1] 5014k Zs~4 B 3 (B -2 %E)13. 43
[ 419821/ Ak 353 (HERK KR Ri5H
[3#8]) ( +0.5 m)
10 1] 445<F JF  HM # 3 (RATHH-5%%)13.37
2[ 713572 Fi0k MHALAR 3 (RANREE-#5E)13. 54
3[ 511828 H  #H3 (WA -H£)13.58
40 3] 51 H w3 (omEd-H%)13. 71
5[ 215043 L UL v 3 (KEFRE-#E)13. 80
6[ 6] 50/ &K Z A3 (llnmEH-5%)13.93
70 8] 889K #F M &1 (Jloivg-%E)14. 27
[ 41303457 £ =3 WExE-HE) Ri5
[5#8] (  -0.2 m)
1[0 6]1910%& #H #& 1 2 (BRAH 5%)13.63
2[ 41911455 ¥ 1B 4k 3 (HERK-HE)13. 88
3L 1110661 H ®y L2 (LE®&-#H£)13.97
47 3] 33'= B FjE 2 EhP-HE)14.00
508110267+ V= EI 3 G = - £ £)14.12
60 7] 27078 )1l i B2 (WEF_H-5%)14.28
7[ 2]5065 A H FiZE¥ 1 GEFH HE)14.33
[ 513601 #E 3 REHEEHE) RiG
[7#8] ¢  -0.6 m)
1[0 5] 103% A #E 1E 3 (R FEH-5%)13. 78
2[ 7] 106 )\KIE =+ 3 FrRIFHET45E)13. 81
3[ 8] 473%E%F HiFE 3 (PR -H1)13.84
40 2] M2 H & Fn2 FRAEETHE)13. 96
5[0 4] 297K ¥ AL % 3 (BAELLT5E)14.00
6[ 1J17T178 #k = 3 (RrmE-HE)14.22
[ 3] 102/ 52 %@ T4 3 (FRAFED5E) Ri5
[ 6] BOARHE ZE 3 (KEm-HE) Rig

[248] ( +1.0 m)
1021910911 B 254 (B¥EK-%E)13. 01
2[ 615042KF 11 Z= B 1 (BKEFR-%E)13.29
3[ 1] 888Bd 1 A% A1 (lpwim-#%)13.29
4 3]1031°E ¥ & ] 2 (k= - £ ) 13. 44
5[ 415066/t B 2 & 2 (KEFR %%)13.45
[ 5]3611% [l Fij & 2 (REWMRA HE) Ri5
[ 7]3603/7 8E #f 2% 3 (RHUHA HE) Ri%
[ 813319F9 # #) >k 3 (REREHA 4T Ki5
(448 (  -1.5
1[ 5]1820)11 @ =
20 2] 282)Il H  f@
3[ 711060/ #k 3= B 3 (FRE- ¥ FE)13.57
40 8] AT7H £ E=HE3 (PP -£15)13.89
5[ 1]3573 1L I % 36 3 (EMm & -5£)14. 05
6[ 3] 869F £F #h AL 2 (Tn7iEk774E) 14. 30
70 4]102504 & 3 Ok | - 3 1) 14. 44
[ 6] 503°F # &3 (KEF-HE) KRG
[648] (  -1.6 m)
10 3117225 244 o4+ 2 (G & - 5 E)13. 87
2[ 4] 881H A 4 M3 2 (IlnhivE %%)13.89
3[ 6] 60412 B 2322 (MWPER -HE)14.28
40 1] 2415 s ] 523 (IlmEfs-5%)14. 32
508] 162A = 2 (LEAT-#HE)14.37
6[ 2] 169%& /5 3 (LEAF-5HE)14. 40
70 71 478/ #K 22 )53 (Fh -5 E)14.52
[ 5]31625 i £ /A2 (IndtE-#5E) Ri5

(8%8)] ( +1.1 m)
10 8J1911 451 SEEZE 2 (RHAH-5%)13.78
20 6] 26317 1% L fh 2 (PEA _1-5E)13.98
3[ 4] 545 W 2 (IlnET-5E)14.17
4T 7] 2159 HEREE 3 (RN % E)14.76
5[ 2]60637% < % A1 (KR 5%)14.89
60 11 521 W A3 (AP -5E)15.07
[ 3] 4637k ® % A 2 (BEHT %) R
[ 513613k fip  #n &2 2 (FHERA &L Ri5

3

(WE R $)13. 35
(EAELRAT 5E)13. 54
(

& o

3
3
3
3

il



[9%H] ( -1.3 m)

10 6] 184/h8 K2 B -HE)14.08
2[ 5] 294K (K3 HEF_-5E)14.16
3[ 1] 851k M ZE3 (MALHT-5%)14.28
410 2] 144)11 . € B 2 (IlnEd$-5E) 14. 35
50 7] 142k 78 e o< 2 (IAasElh -5E) 14, 47
6[ 4] 113+ = #h 452 (FUINERP5E) 14. 50
70 8] 14375 jik %#2 (IlnEGd-5%) 14. 61
8[ 3]1259%k (I = FH 2 (IIAZHF %%)14. 86

(11#8] ¢ -1.2 m)

10 4] 1798 3 B 3 (BFh-55)14.01
20 71 1728511 H M3 (P -5iE)14.22
3L 1]452278 i FFfk 2 (BHRH-5E)14.26
40 5] 1765 W A2 R 3 (hFAT-5E)14. 32
50 6] 8537 ik 2 AL 2 (@ALH T 5%E)14.35
60 2] 257°F JF Ab 7% 2 (% -5%)14.37
70 8J1913 R R H A 2 (BRASF-HE)14.58
8[ 3]1725% JIl  Fii 7 2 (P - 5 ) 14. 59

[1348] (  -1.4 m)
10 3]1163k & Fn 223 (EHAT-5HE)14. 48
2[ 6] 163K % Bt 32 (LEAT-HE)14. 62
3[ 711825/ 16 WL 4E 3 (NAH-HF)14.69
41 8] 27Ha Ak B2 YT 2 (BInp-#E)14. 83
50 4] 30/ B &2 JlofEd-%E)14. 91
6[ 5] 32K mefhZE 2 (0w d-5%E)14. 99
[ 113163 & B2 Jy 2 (ndtE-5%E) Ri5
[ 2190124 &5 ik £ 2 (HRTEKLE) Ri5

[1548] (  +0.7 m)
1[0 2] 442Kk & 1E3 (RITHH-5%) 14. 34
2[ 4] 18KV FFE2 FEMP-£5%)14.60
3[ 8] 528l I && A2 (FRTH-5%)14.79
4 3] 383K HIF]2 (MR -£5%)14.93
5[ 5] 402/ fwfk 2 (II0FEF-#%)15.00
6L 1] 318  JR FH2 (lnmEsf-%E)15. 31
70 711816 R Fr72 2 3 (5895 - 45 F) 15. 55
[ 611064 B4R HFZE 2 (ER&E-HE) Ri5
[1748]) ( +0.5 m)
10 8] 8797 M 3 & 2 W7k 74%) 14. 36
2[ 714547/~ Bk BE 3 (HHHP-HE)14.98
3[ 2]1833 Lk  #E & 2 (WA -#E)15. 24
40 3] 684AH AkER 3 (UBAKH 5%)15. 39
5[ 6] 52187 2 3 AR 2 (FRTF-5%)15. 66
6[ 4] 257 H AWML 3 (lngkd-5%)18. 39
[ 5119034 B HLET 3 (BRAT HE) Ri5

[1948]) ( +0.7 m)

10 6] 525111 Wy #j 4= 2 GEMMTH-%E) 14. 82
2[ 4145167 3 mE 22 2 (HHHP-%E)15.18
3[ 5]4525(L [ At Ay 2 (HHHEA-5£)15.18
40 211723 K e R H 2 G- B E)15. 20
50 714517/ N8y <F A% 2 (BB AF-5%)15. 25
6 8]45467F R % J 3 (5 HH-%%)15.57
70 313310/ k8 4 45 3 (KERE%A 5%)16.05

[1048] (  +0.4 m)

1[0 7] 3884H Jii 53 g 2 (#hiRH-55%)13.85
2[ 4] 882\ & 1%'—'? %2 (Ilnhvg-5%) 14. 01
3[ 311724450 #porhn 2 GRrge -5 E) 14,17
41 6] 884 H b 2 (IlnfizE &%) 14. 29
50 1] 407N Zfb 2 (IDFFEH-5%) 14. 36
6[ 514515671 v 2 (5EHT-%E)14. 40
70 8] 558 K j%rbfm (lnfgd-5E) 14, 41
8[ 2]31593 A & =2 (i -5 %) 14.59

(1248] (  -1.5 m)
10 6] 1770k 5 &3 (EHFEAT-5E)14.36
20 7] 228)11 g AE WL 3 (MFKT- % %) 14. 65
3[ 8] 4241 A B3 (InEZF-5E)14.70
40 4] 4432 W B O3 (ZTHB-H5E)14.75
5[ 214021 /4K FFSHE 3 (Il 0 # & -5 E) 15. 06
6L 1] 258 A W3 JInE+-5%E)15.06
[ 313489H] [H & fE 3 (BIIRARBE) Ri5
[ 5] 499 Fi+j& #3523 (RE & -H#E) Ri5
[14%8] (  +1.2 m)
10 1] 4461% 7k Fd it 3 (RiTHT-#%)13.80
2[ 8] b51gn A & A2 QUART-5%)14. 41
3L 7] AMSE H E FE 3 (RITHH-#%E)14.50
4 5] 393N & k2 (AR -5 E) 14, 64
50 6] 2209 =  #E2 (I0fird-5E) 14. 88
6 3110652 1 — E 2 (FRE -#E)14.99
T[ 2]182415 1 & &= 3 (WA -5E)15.14
[ 411902+ (L & W 3 (RREIAH-#HE) Ri5

(16#8) (  +0.3 m)

1[0 314542/ )11 & 5 2 (-5 E) 14. 42
20 7] 182Kk fEiE 2 FH-5HE)14.57
3L 5] 22678 &+ A& AL 2 (IOfhErf-5E)14.72
41 6] 2 A RS 22 (RN-RE)15.15
504 242 11 FE R 3 (ImEms-55)15.17
60 1] 168/~ Il Z k2 (LFAP-5E)15.18

708] 33 FFrMA2 Jlnkd-5E)16.14
[ 2]11624 K BT 3 (EFAT 5E) Ri5
[184#8]) ( +0.7 m)
1[ 3] 4447558 096 3 (RITHH-55%) 14. 23
2[ 4]  1HTHE %k 3 G -£5%)14.53
3[ 6] 5241y 8 B 32 (EIkif-5E)14.73
40 7118324 8 D W2 (NAT-£E)14.86
5[ 8] 186%F 11 T E 2 (K -£%)15.10
6[ 5] 5221l I #P 452 (EMMIIH-5E)15.13
70 2] 264k #F 'L\ffd:Z (BN - E) 15. 81
[2048]) ( +0.6 m)
1[ 3] 16531 ¥ Fij 3£ 2 (EHFAY-HE)14.87
2[ 5] 84575 & F] 13 (AEF-£5%)15.03
3[ 8] 180F/ER FHH 2 (A -£E)15. 43
AL 2]191208 K #5 % 2 (RRAT-5%)15. 44
5[0 7] 223:& 7k L 2 2 (IAffIr-5%)15. 57
6 4131374k  fE f  (EEREH 5E£)16.13
[ 6] 1830 EF2FFP-HE) RS



[214#8]) ( -1.2 m)

10 8]14319 0 X #73 (RpnH-#+%)15. 10

2[ 6]4b44%% = BR A 2 (5 -5 E)15. 67

3[ 2]1428% H JH ¥ 3 (KANH-5%)16.13

40 411915KR A #E 5 2 (RMAH-3£)18. 21
[ 3] 2448 HAEES3 (I0ERT-5E) KI5
[ 511829 F#BA Eid 2 (NAH -5 E) Ri5
[ 7] 81T/ 8 T = 2 (AIEH - F) Ri5

ZF 20 0m R (8%H)
[1#8]) ( -1.1 m)

10519918 & = B 2 (B K- # £)25. 51
20 6]9306 5 16 1A v 1 (hEXK-BE)26.14
3[ 2] 398k MW it (WwzvAuzl)26.49
41 7] 880KE A4k 2 (lomig-5E)26. 49
5[ 11506148 £ 1& 1 2 (BkEFF-5E)26. 96
6 319508 T =52 GRBELAR-HK)27. 35

70 4] 1948 7T 32 R 3 (FEInd-£H%)31. 27
[ 8] 3611 i =883 (EF - &%) RiH
[3#8]) ( -1.2 m)

1[ 513245 N . #£ 1 3 (EFkE#TE)27. 83
2[ 8119107 ¥ ¥ + 2 (BRIAT-%%)27.99
3[ 7] 503°F # &3 (KEm-#1)28.19
41 6]3572 10k MHELAE 3 (FNmE -5 %) 28. 32
50 1J11958, B % #j 2 (ME55HE-5F)28. 45
6[ 31357311 IR & 2 3 (BmmE %) 28. 69
70 2] 881 H HZ WX 2 (Iohivg 4+%)28. 74
8[ 4191145 15 18 £ 3 (BFERA-5E)29. 26

(54 ¢ +0.7 m)
10 6] 882/\ & & 32 (lnfivis-5%)28. 83

4 AN

(] RTARNy |
1 866 L &1+

(2%#H] (  +0.6
10 6] 901 L &
2[ 515042FF (L
3[ 4] 879/) 1]
41 711031 8 =
5[ 8] 51 H
6 315066t B

[ 113611+ i

[ 2136027 &

(4#8] (  -0.9
10 3] 171 I
2[ 6]1067#2
3[ 8]1060/)~ #£
A0 1] 2415 1§
5[ 5] 33 H
6 4]10328k H
70 711196 L1 a7

[ 2110331 &

(6#8] (  +1.0

m)
W 3 (MEfE-5HE) 26. 37
ZLp 1 (EFRE - E)27. 06
8423 (JIlnmig-%%)27. 20
B Al 2 (W& - B £)27.78
E w3 (Ilnpt-%%E)28. 46
¥ A 2 (hEFR %) 28. 56
F#H 2 REHEE BT Ri5
g 3% 3 (RABHE-HE) Rix

m)
H 33 (KFd-H#E)28. 38
B2 (ERm-#%)28.43
1 B3 (EEm-#7%)28.53
i 523 (lpgsf-5%%)29. 00
&2 (Fhnd-5E)29. 36
¥ At 2 (k& - B £)30. 00
B B 2 (ORE5%R-5%)30. 15
BRI 2 (k& - B B) Ri5

m)

(TAVT )7L 7758) 12, 66 +1.
230477 FEEN 1 (REXRE-BE)12.73 +1.
3 880FKfE xAak2 (lnmm-HE)12.73 +1.
4 2851 A A Mk 3 (RAELAD-HE)12.91 +1.
5 995 HiAEVR 3 UNAET-5E)12. 95 +1.
6 9508 7 AiE T =3 2 (RRTREe #UR)12.95 +1.
79109 kb 36 4 (BEZERE K- 55 E) 13,01 +1.
8 5042FF 1L ZEHE 1 (KA - £ 1) 13.29 +1.

1[ 3]17225 2044 ¥4 2 (REEE -5 F)28. 73

2[ 3790097 1|
3[ 4] 2707 )|
41 7] 884 Ht
5[0 1] 144)1] H

% 33 (RRLEA-1EE) 28. 97
bi %% 2 (HEF_-5%)29. 36
W rg 2 (IniiigE-5E) 29. 46
2 (lnEif5%)29. 77

6[ 8] 499 i +fdl 33 (KEE-£%)29.95

70 2] 182Kk AfEiE 2 A -£%)30.63
[ 5131628 J& & A2 (Ilndts %% Ri5

(7#8]1 (  -0.2 m)

1071913 R B 4l 2 (RRIAT-5E)29. 52

20 811914 H L #EAc A 2 (RRAT-5E)30. 20

30 6] 229if #EAT 2 (WFART-5E)31. 39

40 3] 18K & FE2 (RN -¥%)31.76
[ 1119027+ 1 & A 3 (BRAT 5% Ri5
[ 21190345 B8 PEEF 3 (BRAT HE) Ri5
[ 4]90124 |5 pk 3% 2 (RATEK LR Ri5
[ 5] 228)1l ;4B WL 3 (WFRT-5HE) Ri5

2[ 5] 2T#A k¢

8247 2 (Ehnh -8 %) 29. 03

3L 4119115 £HEZ= 2 (BRAT-5%)29. 28

4[ 21452278 i
5[ 7J1717 & #k
6[ 1] 8537 %
70 8] 22678 &

K 2 (BHRET-5E)29. 33
B3 (R 5 $)29. T1
¥ At 2 @akhT-5E)29. 81
& A 2 (iinfeerd-£%) 30. 01

8[ 6]1039°% i H 3% 2 (k= - & £)30. 03

[8#8] ( +0.8 m)

10 7119004 & #hAk 3 (BRIAT 5iE)29. 06
2[ 6112008 A x4+ 2 (REGEE 5E)30. 91
3[ 4] 1868 B T H 2 (BFH-%E)31.57
4[ 5] 180FR Filli2 (AP -5%)32.19

50 211912 A
6[ 811199 &
[ 111915k #F
[ 3] 18311 1

bR 2 (RRAH 5 %) 32. 23
Tl Bk 2 (REGE 5 5E) 34. 66
# % 2 (RRAT -5 E) Ri5
EH 2 BAd-RE) Rig

oo~ b,bb~



we
918 AF
2 930685
390110 £
4 398 I
5 88075/E %
6 5061 1f /&

B2 (K- B )25
16 77 1 (% E K- B E)26.
W} 3 (Lg% ) 26.
WAE (Vyz v XA 26.
ZSx k2 (IlpifiiE-%E)26.

1 2 BKEER - 55 ) 26.

51
14
317
49
49
96

-1.
-1.
+0.
-1.
-1.
-1.

7 50424 1L ﬁﬁﬁl (*k%?li] i§£)27.

8 879/ )1

06
20

+0.
+0.

_1_4._

BE)21.

XF 40 o m ;kﬂa% (5%8)

[1%8])
10 5] 2853 A&
2[ 6] 282)1 H
3[ 3]9110# R
41 2130379 1
5[ 7] 879/ )1
6[ 8]50614R 4=
[ 4]5041 %= i

(3#8]

10 41304142 15

2[ 81304311

3[ 3131614 i

4[ 7150627%k H

5[ 6] 4078 K
[ 2]1033)11 %
[ 5] 500/) #F

(5#8]

1[ 7]1635% H

2[ 4139914 1|

3[ 5]5044 5 5

4[ 6]56717%

5[ 3110345 I
[ 8116387k W

B Pk 3 (BAELAT5E)59. 01
fiy 3 (BAELAT4%)1:00.
W k4 EFRKRHTE)1:00.
E R 3 G EER&HE)1:01.
B AR 3 (lnfizs 5%)1:02.
H 2 BKEPRE &) 1:02.
% )3 (KEFR &) Rig

05
A
94
03
99

5% 2% 2 (REFm - f1)1:02. 56
B2 (BERR HE)1:04.02
2+ 2 (s £%)1:06. 01
Hi A8 2 (KEFRE-5E)1:06. 75
8+ (W=vAH#E)1:06. 82
KK 2 (R - B ) Rig

B R3 (REmE-5E) Ri5

H b 3 (HfmeE-%%E)1:05. 03
f5 322 (iftkm- 5 %)1:08.76
453 (KERRE-#5%)1:09. 74
# %3 (Ru)lng-%%)1:10.76
M2 (e - B E)1:15.78
O HE 2 (R G- E) Ri5

ZLF 80 0m REE(15H)

(18]
1[ 4]
2[ 5191103 R

62 £ U5

(BERG R -1 AK) 2:14. 44
Wk 4 EERKHE)2:14.68

30 812791 Kk 1L A9 1 (B Fr-51)2:19. 49

41 1] 887#h H
5[ 312794 % WA
6[ 6] 885E H
[ 212793 28
[ 7]2792%F 7

FE w1 (IAfLE-5%)2:20. 10
fi 1 (B¥m-5E)2:21.48
KL 1 IG5 E) 2:22. 62
L1 (BFRE-RT) Ri5
E P11 BEm L RS

O OO - —m A O - =

[24H]
10 2] 20325 - = & 3 (FAMt#%%)1:03. 35
2[ 8]3152[ /i & 3 (llnds -%%)1:04. 43
3[ 3]10617L FF W& ¥ 3 (J:E%m iﬂiﬂ 06. 54

[ 4] 505 cil KAE 3 (KER - E) Rig

[ 513608 A L2742 (Rt ﬁm BE) Ri5

[ 6]5068R8 B  # 2 (KEXR-HE) RiG

[ 713612/N 38 b5 3% 2 (RRAHA-#E) RiG
[4%A)
1041106782 3 L2 (LR®-%E)1:05. 44
2[ 6110597 B3 Jk & 3 (LEm-55E)1:07. 41
3[ 7110328k H % 4t 2 ik & - iﬂ£>1:08.52
41 8] 6313 3 8 %2 UW‘ %) 1:08. 64

[ 3] 506 9 1 i 3E2 <j< iwiwzi%

[ 5] B07<FlR H3EZ 2 (KEm-5&E)R5
1 2853 A i k3 (EAELRF-#%)59. 01
2 282)I1 M fw 13 (EAELAY-5E)1:00. 05
39110 R ¥ ik 4 (H”h%lzmj( B £)1:00. 71
430373 1 €U 3 R R E)1:01.54
5 879/~ JII E 43 <)lluﬁ?jﬁ 7 %) 1:02. 03
6 304145 4% 5 & 2 (B EXE-5%)1:02. 56
7506148 £ IE 1 2 (%k%ﬁﬁl £51£)1:02.99
8 2035 H £ & 3 ((AE/EH-££)1:03. 35
[24H]

1[0 8] 874K ’k
2[ 7135758 A
3[ 5]9716# J

%%3 Iz 4%)2:23. 31
2 (BRF-#%)2:23. 69
{%2 (UK - % H0) 22 26. 06

41 213151 kN &3 (llndke-%%E)2:26. 28
5[ 6]30315 (I HEAE3 (afxm-#E)2:26.57
6[ 31303277 M & 161 FERE -5%)2:29.75
[ 150688 B A 2 (BKEZRE-%HE) Ri5
[ 41267637 H+ X 42 3 (riRfiE-&%E) RiG



[348]
10 6] 69/NHHd £33 O\BKRF-%%)2:
2[ 4] 2035 H = 5 3 (FAMH%E)2
3[ 1110617 1 e 3 (LEMm-#HE)2:
A[ 5] 15HF 63 FEMNR-HE)2:
5[0 213161 5, 3 7;%2(lm4tm HE)2:
6[ 7] 505 CIL FKARE3 (REm-#HE)2:
70 8] 8867H Kk % =1 ()llnﬁﬁ%'iﬁi)z
8[ 3192084k & 3 (AMlA-EIL)2:
[54H]
1[ 1128067 B Fome 1 (B Fm-55E)2:
2[ 7] 507<Fly H¥(Z 2 (REm-#HE)2:
3[ 5] 249k B % 3£ 3 (IIAZHTHE)2:
AL 8] 815 R HA 3 (IAfE &HE)2:
[ 2127957 N BE & 1 (BF@E-HE) Ri5
[ 314236 FH 21 1 (REEE HE) XI5
[ 4]42354xH HHAE 2 (RERE & E) Ri5
[ 6] 1383 ¥ &2 (ENP-5HE) Rig
[74H]
1[ 5] 5061 1
2[ 3] 855Kk i
3[ 1] 2418
41 213991 %% )11

32 (KE

60 71 11K
[ 4110378 O
[ 6]3612/)~ 12

[948]
10 61567311 M
2[ 5114262 H
3[ 3] 4054 ik
4[ 8]5016%% Il % #E 3 (BR R
5[ 7] 8337% jiE 3 (A& -5 E)2:53.
6 4118767 % &Ei 1 3 (5% m -5 F)2:53.
[ 2]1422% 0 # &3 (RADH-HE) Ri5

(1148]

il 2 2 (R i - B 1) Rig
b5 3% 2 (RHEHRA -5 ) R15

10 5] 8773k VDA 2 (Th7inEt)77+4%) 2:53.
2 JlapEd-5E)2:54.

2[ 8] 297z H
3[ 41504975 H
41 3145243 B
5[ 6] 6057# [
6[ 2113571 1

[ 7]5046 i ¥4

F] 7 2 (BEFRE-#E)2:54.
¥ 2 (HBHHEP-5E)2:54,
Zz e 2 WFRE-

%A 3 (KPR k) Rig

25.
:26.
26.
26.
28.
28.
33.
38.

33.
34.
36.
39.

5 E) 2:38.
AR AR 2 (BRERT-5%)2:39.
22 i 3 (IIAwEH-51E)2:40.
il 3 2 (Rt HE)2:41.
5[ 8] 185#JF O LV 2 (B -5E)2:42.
¥ )2 (R -5 1) 2:48.

* % 3 (Bulng-5%)2:37.
If A 3 CREAH-5E)2:37.
RAK2 (IRFGE-5E)2:47.
5%)2:52.

%) 3:03.
P H 3 (kR 5%)3:10.

24
61
64
91
67
93
16
80

96
46
94
01

05
35
84
43
14
14

12
83
16
98
02
40

88
05
85
98
21
49

[4%8]
107) 24W8 %% 4 452 (BEjndh-¥5%)2:22.
2[ 8]9116)I1 3 3= 4L 3 (BEFA-HE)2:23.
3[ 5]2796)8 32 % 1 (BYrS £ E)2:26.
41 4112426 8 SZ 45 3 (InERH5E)2:32.
5[ 3]19528% A H Y2 (BAELLTHR)2:39.
[ 1]4233kk 5 £l A 2 (KERA BT Ri5
[ 2]42318E & M & 3 (KERA-HE) RiF
[ 61423272 B % 3 (KEHH BT KRG
[648]
1[0 7] 8507k %
2[ 5] 40fEkx B 1
3[ 2]3574 K g A2
41 3] 831b g EH Jf (A% -5 E)2:37.
5[ 6150645  H 1 (kEFE-HE)2:43.
[ 1]42343¢ Bﬂ&iﬁz (RERE -5 E) RI5
[ 471259%k 1L B FH 2 (Il0ERS5E) Ri5
[ 8]2685)L%F Hpd -2 (kA& &%) Ri%
[(8#H]
1[ 2]5674(F fE 4 £ 3 (Ry)lng-#%%)2:38.
2[ 315672 =AAK Z4 3 (RV)INE-%E)2:45.
3[ 8150174 B Bk 4% 2 (R IUHH HE)2:46.
[ 411901 & iy 2 Ty 3 (BRAY-5E) Ri5
[ 5] 818F M %Efsz (AIEF -5 ) Ri5
[ 6]104048  #] A2 (3% & - 8 £) Rig
[ 7] 2TE H+ %%zﬁz JIOFEH-5E) Ri5

3 (AEH- 1) 2:30.
(VWzv A WA 2:36.
2 (Fflfm-%E)2:37.

[1048])

10 21504778 J+ & BL2 ETFR-HE
2[ 61152275 & F 22 (D Bf-HE
3L 4118712 KR Bk 3 (5@ -HhiE

)2:45.

)

)
4[ 81152742 JII 0 B 2 (IR EH-5E)

)

)

)

48

2:
2:
2:5
2:52.
5[ 7] 466fkx Kk HWY 2 (BEh-#5%E)2:52.
6[ 51451911 4 £ fE 2 (B -HE)2:
[ 3] 2293 (L x

4y AN

99.

b5 2F 2 (AT -5%) Ri5

(] TRy

1 62K E Od  BEBRFE-HA)2:
291109 IR 7D ik 4 BEFRER -8 F)2:
327191 K1 A 1 (B - 5 £)2:
4 887#h W FEwel JlnmvE HE)2:
527945k #E FE3E 1 (BYmEm-#E)2:
6 885F H d]le JIagE-HE)2:
T 24557 MEE2 (- E)2:

8 8747K 7k F%B(lluﬁiﬁ 1) 2:23. 31

14
86
93
22
Y

68
19
13
61
15

97
09
00

01
15
1.07
29
97
13

14. 44
14. 68
19. 49
20.10
21.48
22.62
22.74



ZF 1500m R AFR)
[1#8]

10 11280910 #5 AL JE 3 (B EmH-
2[ 2]2804k 4 H &3 (B¥m-
3[ 4] 624F L OB
4721] 8735
5[ 712792 %5 7
6[10] 885F H
7018] 887h M
8[20]3575¢% A 5 2 (HMEE
9[11]13033m7 1 Lt #F 3 GFEXR
10(17] 88847 B H & (HR
11[12]3034 il Ot Av 2 (BREXRRE

[24H]

1[ 4] 64548 H XX
2[ 9] 159k =583 (BENF-HE)4:56.
3[11]9116)Il = £ 1k 3 (HWM %i%)4:57.
4[ 5]3037% = B2 BEsxm-wE)5:
5[ 7130394 i v A1 (FERE-HE)5:
6[18] 245 %F f1F A2 (BN -5HE)5:
T1017] 69/~ HA fm?) O\BRREH-5%E)5:
8[ 8]3040iL 1 ¥ Fn 1 FEXRm-HE)S:
9 1127965 3%~ 61 (BEm-#¥E)5:
10[10]1062 FH £ #A #k 3 (LE®-HE)5:
110 3] 8722 1 243 (IAingE-%%)5:

[3#8]
1[13] 606/% %

72 2 (WP

40 1] 875438 HH 3 (lAmiLs:

6[10] 16179 H
7[ 8128067 By %n uﬁé1 (B¥m-5HE)b:
8[ 71271957 B H 1 (BFm-HE)5:
9[ 4] 249k H &%3 (JIREERHE)D:
10[ 5128162 H ® 32 (B¥E-#H%)5:
11[14] 8165 & £ Z2 2 (HIEH-HE)5:
[44H]

10 6] 87711 #EZ 2 (Intvg &E)5:
3[ 5]1037%F O
41 1] 4470
5[0 4] 187/ #k
6[ 313160/~ #k

O3 (BTHRT-HE)S:
EE &2 BFh-RE)S:
&P 2 JlpdkeE-HE)S:
70 8] 1884F & K2 (KFH-HE)S:
8[21]14332L Ji{ W& Fn 2 CRAERH-£E)5:
90 9] 2293 11 B 2F 2 (JINfflT$-5%)5:
10[16]1826%T N 3 523 (W -5 )6
11[20] 1441 H

51)4:38.
%) 4:40.
(W ARER: - 1 4) 4:45.
2 )5 3 (lniive-5E)4:49.
EP 1 (BFm-FE)4:50.
L1 JlnieE-5E) 4:51.
Fwe 1 (Ipiie-5E) 4:52.
Fi %) 4:52.
Fi %) 4:53.
it - a0 4:53.
Fi %) 4:55.

CIORBER) - U 4:54.

00.
00.
03.
04.
04.
04.
04.
05.

HE)5 11,
2[ 2] 8507k ®F  ZE3 (HIEP-HE)5: 14
3L 6]2801 Il A 2 (B Fm-HE)5:15.
#%)5:16.
5(19] 8784& Iy & P 2 (llnmvaE-%E)5:17.
EAE2 (EHERR-5HE)5:21.
23.
24,
24,
25.
28.

29.
2[ 21103875 H Hix 1 2 (k= - By £)5:31.
it 4< 2 Bk i - & £)5:31.
35.
44,
49.
50.
94,
99.
- 06.
bi 2 (REAH-5%)6:07.

49
52
35
16
39
84
24
61
01
43
20

56
96
63
21
91
84
13
2]
31
83
31

84
33
12
98
43
19
33
52
62
11
60

44
08
97
68
16
95
81
83
94
o1
48

12[ 812791 B IL #2541
130 6]279455% ¥§
14119] 874K 7k
15141303648 5
16 [13] 30353 Fit
17[22] 876z B
18 [15] 871K )|
[ 3]2807 4% ji%
[ 51280884 K
[ 9]27931 28
[16]9718)5 H

(BT

5 ME 3 (IIAmE-
A3 WER
BB GER

B2 (R

¥y 3 (BFR-RE) Ri5
F% W3 (BFm- 55 Ri5
&1 (BFR-R T RiG
E R 2 GRBK- dLiE) Ri5

12[21] 8541 [if]
13[13]13151 kK N
141413041 5% &%
15[ 613038\ K
16[12] 8867 /K
17019]1242°% 1% FE # 3 (IIAZHT-5%)5
18[15] 304212 WD 1 (GEFRE
19[16]30437% % & & 1 (A

[ 212815 Bt ARERL 2 <E¥ﬁ B ) Ri5

[20] 13 H ¥ A2 (BN -5HE) Ri5

Z£ 3 (JIndeE
W21 BExRE
&1 GERE:

=i

12[21] 855K ¥
13[ 3] 831H) ji=
14 (18] 1734+ #
15[11]2006 % =
16[16] 11K K
17012131531 & ¥

(AR 5£)5:30.
(% - #£)5:32.
(FEAH-£%)5:33.

(R - % %) 5:40.
0k -5 %) 5:48.

AW B R A

S OA N SEWE SHT SR B

(J
18 [15]5067 2 H (k¥R % %) 5:56.
[ 9] 2508 %F 1 (BN -5 &) R35
(1713621 /N K WE A 2 CREMER BE) Ri5G
(2011901 . fin 28 (BREAH-HE) Ri5

1215131641 H
130117 2274 %
14131316548 A P
15 (1711822 siifEAk >

A s R E)6:07.

IRds -5 %) 6:12.
(WA -5 E)6:16.

~

= ¥ HE §8
< R R R R

16[14] 6057 M K 2 WFAER-HE)6:22.
17010]4022 T i #& Jh 2 D H&E -HE)6:27.
18[18] 4487 11 P =3 (BITHF-HE)T:00.

19[19]18301x ik & HLEE 2 (WA H - K £) 7:47.
[ 7110401 #1 Z%2 (k- 5 £) Ri5

(12118315 M 12 (NAH - -&HE)Ri5

B £)4:55.
it %1 (BFm-5E)4:56.
%E)4:57.
FH%)5:00.
m5%)5:00.
%%)5:03.
43 Jlpmsrg-#%)5:23.

b5 4 2 (BAEHT -5 %) 5:10.
HE)ST.
5%)5:13.
FE)5:14.
% 5 1 (lpfieE-5E5)5:17.
:20.
5%)5:28.
m 1) 5:29.

(G EREH- % £)5:39.

(
(I T %) 6:12.
(

35
29
14
68
A
40
01

96
41
29
58
91
41
40
12

12
98
66
69
93
86
07

68
24
88
23
24
47
12
39



D AN
s [

12809fh v AL AL 3 (B Frm - b5 £)4:38. 49
22804 44 H H 3 (B & 1)4:40.52
3 62FF L UMD (WiAKEEH-HiA)4:45. 35
4 813 % )3‘ 3P E-#%)4:49.76
5 2792 5 I A1 (B 5 5)4:50. 39
6 885% H fFle (iATszE-5E)4:51. 84
7 887h H me 1 OllAsce-5E)4:52. 24
8 3575¢n A A K2 (R & -5 1)4:52. 61

ZF 3000m R

1[ 51912338 H FEFF 1 (H”%ij( £%)10:18.84 16[21]1063%k £ #®E FH 2 (LE&-£%)12:10.13
20 7] 5082 B > F2 (KEE-BE)10:19.41 17[19] 8779y BEEZs 2 (oG -%%E)12:20. 44
3[ 413047 K & ;‘u% 3 (%E%%-%EHOZZ& 13 18[20] 605 — VA f& % 3 (B8A%+-#%%)12:21.58
47 8] 873)5  # Jh3 (lnwivE-%E)10:23.35 19[25]50504% i 00 F 1 FhEFRE-%E)12:23. 42
50 6JO121%E B 1X 72 1 (BERA-5%)10:27.48 20[26]315547 F frJHE 2 JndE-#%)12:48. 90
6 9] 876[= B F”EI 2 (NodvE-sE)10:30. 51 21[24]3160/) #& & B 2 (s -#E)13:08. 27
70 313046 F B B3 EEXE-£5E)10:42.02 22[27]13154%= 1% EE 3 (N -£%)13:13.12
8[10]2071 /8 2 %ﬂﬁ%ﬁ:& #AlE-%%)10:49.00 23 [28]15048 2 i Eﬂ%if%z (ks - %) 13:20. 07
9[13] 87242 6 72/ 3 (lomE-%%E)11:00.19 [ 1]3044H 3 BEXEBE) RS
10014110621 A& #AHE3 (LRS- -#E)11:05.45 [ 21304548 (L 3 <h£;i<ﬁ-ia*r£>ki§-
11[18] 606/ %k  Z©2 WFER -HE)11:15.96 [15] 509%r Ht 2592 (R'EE &HE) RS
12[11] 871 KR JII £ 42 3 JIRWvE-5%E)11:28. 24 (1719117 LR 3 (HWWK BE) RiZ
13[12] 50285 A L 3 (RKEm-#£)11:29.17 [22]103875 H B4 1 2 (ki - 7 £) R35
14[16] 8784% Wr £ P 2 (JIpHvgE-#%)11:36.08 [29] 60174 H AL f& 2 (HERED-HE) RI5G
15[23] 816 1£ £ 222 (AWEH - E)11:45.47

¥ 10 0mHI[0. 762m/8.00m] R (448)

%HF

25 0B 3
R

._[

/\,\

[1#8) (  +0.5 m) [2#48] (  +0.8 m)

1[ 4] 988 K= OF Y 2 (LRAAT-%E)15. 51 107) 5185 A & A2 \BKEG-5%)17.37

2[ 5] 14231 W 9R3 GULABERT%E)15. 91 2[ 519148 1L A 2 (BRAT -%%)18. 40

30 7] 2631w 1% £ f5 2 (FEF_F-5%)16. 60 3L 4] 1H FHES BBk 3 (FEN-¥+£)18. 41

41 3] 852/ #& & 5 3 (MAfkt-%%)17.58 AL 6] T4 L ZEM2 ENF-HE)20.00

5[ 6] 505475 {Ha<)y 3 (Bivad-H£)17.58 5[ 3] 80378 H 2 4E3 (HiEH-#r%)20.25

6[ 2]4547/s #&  FE 3 (HHHF-5E)18. 42 [ 8] 229 4% MEA K 2 WP -HE) K&
[ 8119004 7 #hilk 3 (RREIAH HE) &Ktk

[3#48) (  -1.0 m) [4#8] ( +0.6 m)

10 4] 68FH ARkE 3 (\BART-5%E)19. 24 1[0 8J1419F J+ & & 3 (RAn#-#%)19. 80

20 7] 8027 & ¥ F 3 (AWEH -3 E)20. 60 2[ 7] 8567k M ARt 2 MAXET-5E)20.49

3L 8] 2 A A& =2 (FEP-5E)20. 67 3[ 6] 393N 2 k2 (MR -£5E)20. 71

40 3] 27739 W 2 A 2 HEF _457F)22. 04 40 4] 25T HEE EHAM 3 (IlnErd 5%)21. 03

5[ 5]4519)1] 4 %%%2 (5B RH-5%)22. 23 505] 847 = k8 £ 3 (% -#£)21.09

6[ 2] 4041% )| 322 (A% HR) 23.18 [ 3] 801k H 1F #13 (HIEF-HE) Ri5
[ 6]4523 &7 B% fi 2 (BERT-HE) Ri5

=)

+

1 988 K= UFEV 2 (EFERAH-#E)15. 51
2 14Z223T ¥R 3 GULABERT 5E)15. 91
3 263fF ¥ EfE2 HEE _P-5E)16.60
4 518 AR 2 QUK -5E)17. 37
5 852 1B X 53 (WAkEt-£E)17.58
6 50547 {H4Jy 3 (v o - 85 ) 17. 58
T1914 1 A4S 2 (BRIAT-¥E)18. 40
8 1H T 3 G- 15 %E)18. 41

+ + +

+ +

+
SOSS000SS
oo OO U1 U1 &0 C1 O1 O1

+



ZF 100mHI[0.838m/8.50m] RA% (340)

[148] ( -0.5 m)

1[ 4196777 2R 3 (FE K- EH) 14. 84

2[ 5]3039°F 1 # H 2 (BE¥mE-HE)15.48

30 2] 398k H MAE (WWzrXHzEN)15.52

40 719109 Lth thEC 4 (EERA-%E)15. 54
[ 313050 & £ H 1 GRERE-HE) RiG
[ 61304944 By A1 GREsxE-HE) Ri5
[ 8]3602% 2 A2 3% 3 (RAMEA & E) Ri5

[3#8] (  -0.7 m)

1[ 8]16454% & =K J) 2 (lifumm -5 %) 18. 66
2[ 5]1066(L H B E2 (EES-#%)19.73
[ 3] B10ZE M A2 (KEHE -HE)RH
[ 4] 4044 )11 45 3 2 CRE iR Ri5
[ 613163 & 02 Jy 2 (llndkE-#%E) Ri5
[ 7116375 2  HL B3 (FREs - 5HE) Ri5

(2#8] ¢ -0.9 m)

10311026740y = £ 3 (5t & - B £)17. 69

20 8110365 Il Oy ¥ 2 (ki - 55 1) 19. 44
[ 413609+ (LI #i & 2 (RAMKA &) Ri5
[ 513606 K #F .0 & 3 (FHHRA &L Ri5
[ 6] 504K H# HH 3 (KEm- &) Ri5
[ 71726k AF B B8 2 (R - B 5) RI5

D AN
L
IRy - |

196771L b 2 3 (LI R - 2 %0) 14. 84 0.5
23039 1 % H 2 (BEXE-5HE)15.48 0.5
3 398k M A (VWWzrZX#E/IN15.52 -0.5
49109 1 HeSeE 4 (BE%Efe k-5 %) 16.54 -0.5
51026742 EN 3 (B =+ ¥ £)17.69 0.9
6 16451 gk 2K J) 2 (fifimm -5 £)18.66 —0.7
710365% )11 L& 2 (B ) - & £)19.44 0.9
8106610 H k2 (LRS- -H£)19.73 0.7

=0

ZF 400mHI0.762m] R (3%H)

(1#8]

1051939247 # R ¥R 3 GRS K-HE)1:03. 61
2[ 419605%5¢h 5% + 3 (BRfBEK-F4)1:07.04
3[ 313031 e 3 {3 BEFE-%E)1:07. 88
41 6]3039°F v & H 2 (BE%E-%¥%)1:08.67
5[ 7125553 F ¥ 2 (MifEm-#E)1:09. 26
6 1]1025E49 83 (& - B £)1:09. 52

[ 213608 ek fEE4s 2 (REMER BE) RiG
[ 813609 (L By & 2 (RHMER BE) Ri5G
[3#H]

10 411726 K ¥F B RS 2 (RS- E)1:17. 65
2[ 5] 51038 Wi A2 (KE&-H15)1:19.49
3[ 71504415 18 A 45 3 (BREZRE 5%)1:22. 62
4 3]53311E %~ K 8.0 3 @RBRE 5E)1:25.22
5[ 214542/ )1 FE 2 (5RE-5H5)1:29.16
6[ 814539k FH/WE 3 (W& -£5£)1:30.29

[ 611034 o R 2 (ks - B £) Ri5

(28]
10 513152H 1 #
2[ 6]5062%k H i
3[ 8110594 E4
41 7130424 [ 3
5[ 3] 63135 3 #
[ 213242 M
[ 413605 )1 &

bt

(A dm-5%E)1:09. 85
FEFRE-HE)1:13.75
3 (ER&E-HE)1:13.90
2 EXRm-HE)1:14.43
2 (IgRerE 5%)1:19.12
3

3

I

3
2

=

o

BE A
T4 S o N 2 m

(FEARR B Ri5
(BRI 5 ) Ri5

D AN
L
YRy - |

193924 3% R 9R 3 G2 K-8 £)1:03. 61
2 9605457 7= 2 - 3 (BEyH K- FHA)1:07.04
33031 H g B3 (BrEsm-51E)1:07.88
4 3039 7 % H 2 (5FENE-#7F)1:08.67
525557 2 (BiVEE - B E)1:09. 26
6 10259 3 G & - ¥ £)1:09.52
731520 # 3 UllEodem - #F)1:09. 85
8 5062Fk H it AK 2 (BKEZ[EH-#£)1:13.75

0

EF 4xXx100mR R U4)

(1#8]

ey

170 AR £

881 H & M2 8807k 42 819Nl HE A3 8834 ik A ifF2)51. 46

2 (6] BKEL% - J 1 (50607 HF Hll £ 2-50614R 2 i +-2-5062%k Bt 2 5066# B 3 7 2) 52. 02

(

(

3 [BIFRANFHH-HE(

4[2]pk & - & E(10365% )11 0 & 210253
(314 TR - B (
RAEE PN R
(6158 HAR R - 5 % (

M2 H ZSf2 10252 #1793 103 A F54E3- 106/)\UKfE =+ 3)52. 78

)
)
gn3-102740 )11 K 523 1031 1% K 71 2)52. 92
) R15
) Ri5
) R15



[248])
106]4:m]H - B
2[311lAmE - BE

M By JE A3

175% H

S[2]HEE —H 5%

6 [8INAH A-#E(1820)1 O

BIKE&E-BE

[3#H]

1[4] B -HE (10671 3

2 [81RIAS - B E (19004 17

361 H -8

4 [3] B - 8y (
(
(
(

E

[—'—»ir‘
TEB

(
(
(
41T] EFHAT B E(
(
(
(

T AR 3 -

S5[TIMALH-HE

6[2] AiEH A-BE
[61)1ladkeE-
[(448)

1 (81 HFnrE i - B

2[2] R -85 E (14317 50

851k
BE

163678 7Kk

[3IA%BT B-#i%

[6] AT B-fiE
[TIRMAAT-HE

N AN

l‘lL‘.\I:I

T a W& 51. 46
2 %k ®H o7 [H 52.02
S 1M & 52.39
4 4 i) M 52. 64
5 TR/ FHah 52.78
6 J2=1 = 52.85
7 W% 5 52.92
8J)II O mE 53.33
TF 4 %xXx400mR
[14H]

1[4))ilnmvg-5E( 8807k Ax k2
2[3] K'eEE - E( 500/ B HEZS3:
S[6)iifmEm-HE(63BH/R O & H3:
4(7] R - h£<105935r3'5 A3
5515k i + #F (102504 #53
6 (8] rd i - iT£(1717F' wOE A3
AN AN

\IL.\|:|

T e W& 4:13.75
2 K =} = 4:18.92
S oM & 4:20.76
4 F JE = 4:23.55
5 Jik =3 4:28.19
6 it £ & 4:48.58
XF EGSHk iRE

10311800277 W i3]
2129] 1800 EBi (rtm%ﬂ%
2[3013050H #& 3£ A 1 GiEXaE-5&

b4 K2
3[4 - B E (172485 wbamine-
P
2571 Ff B2

B2

17285111 H FF3-
THTH K3
723

800Ff FH ZHEZE3:

% ( 3
( KA
S[4]5HHT A-BE (45418 Ak BES
4[6] 58K+ B-#%E(4525/0 M ft 72

(

(

(

-103284 H

40j¢% H
51%5 H
1717588 #&
16219 &
2631 1%
1828% H

1060/)> #k
1910 78 & 12
184/ &
33 H
85375 ik

16354 1

452278 i
451675

iR Bg (248)

885°% M L1

503 83
16225857 A7ax3-
106742 H B JE2:
¥ AE2

17253 )11 Fi A 2

(FREAR-Vh k) 1m76
tt;m%) 1m73

k) 1m73

IRRARE
ESJURE
H A3
b2
KE2:

3

T B3
19135 R
A2
F B2
¥ Ait2
830/Mpk T F 3

HH3
1M9E H TE &3
IF2
e 222

42/~ H

5585 A
172535 )11
17700 2
2705k 1|
18245 1%

1059 B4

17137 Jt:

2T 2
855111 [if]
8324 J

162258%F 723 )
I 3- )
451N <F 2 )
4519)11 4 FEFE2)
)
)
)

14262 H

454611 I

B2
e WA
B A2
A 253"

B2
B A=

JPR 4¢3
H A2

H 33

B !

- 182K 15
HD *):I:Z
B 2

3% 2)52. 64
% #73)53. 33
17227 244 v#742)53. 73

43 A )
)
)
169%#% J7 i 3 3)53.79
)
)
)

501 A

© 27719 W 3R /E2)55. 31
$3-1832%: A D 1»2)5b.82

R iz

1066/L1 [ ¥y 3£2)52. 85
19114i5] £85222)53. 49
16 1E.2) 54. 47
18K 76 7 fH2)54. 81
852 16 )

)

)

8357 1

S 53)55.20
fili iE3) 55. 45
R 35

164514 %
1423F1 Fd 75 FH3) 56. 93
451585111 Z DY 2)56. 94
1:00. 25
Ri5
Ri5
Ri5

*J52)52.39

88T H L me1- 874K K Fﬂ&sm 13.75
- BO5TCIl S 3- BOTHI H3%%2)4:18.92
1637/ Ak 2 {22 16284 H t{ﬁ3)4 20. 76
1062 #&& #AHE3-10617L 7 W% 3)4:23.55
1039 e H 3£2-1031% 1% & 72)4:28.19
1726 K kF BEFE2-17225 2044 041 42) 4:48. 58



4127]3038%k &
5[26] 304914 B
6 [20]150581% fi%
702115057 %% H
7023] 14%iC
7024] 9155 15
10[11] 869& 5
11[15] 27475 H
12[17] 193 T

k2 BEXEBHE)
A1 BEREHE)
BT (KB 5E)
HBE 2 KEFRE-=E)
W R 3 (GLABERT5T)
BEAS (RmT-5HE)
¥ AE 2 (V7 0EE 7 4T)
fh 2= 2 FEF R HE)
% B3 ENH-HE)

¥
=

13[16]150654 M BiE ¥ 1 BKEZRE HE)
1419110275 )1l B % 3 (k= - #r &)
151813156 i F fd 2 (It %E)
161411039 g H 2 (k= - 5 F)
17[22] 9171U7E £/l 2 (FARhsH 5E)

18[ 9] 467t
19[12] 257 #
20[10] 533 4
20 (131103657 )11
220 3] T1F
23[ 8] 8437 T
24[ 7] 834%5 H
25[ 2] 264k #¥

1R A2 (BERT-&E)

L2 @EF_F-7E)
752 \BRRF-5E)
O H 2 (R E -5 E)
HE H 2 (FINH -5 E)
HE 3 (HIE-HE)
= & 3 (HIEH -5 E)
D g2 G -HE)

26 [ 511437 RALR £ 2 (REOH-5E)

26 [ 6]4524: ¥y
28 [ 4]14397k i

w, FHe

2 (5HRPHE)
H 2 (KEpoh-5E)

1m58
1m58
1m46
1m43
1m43
1m43
1m43
1m43
1m43
1m40
1m35
1m35
1m35
1m30
1m30
1m25
1m25
1m25
1m20
1m20
1m15
Im15
1m10
1m10
1m10

[ 171436/ A& R HR 2 (RADd-%E) BR8k% L
(2513607 A M E HmE 3 REMEE &E) Ri5H

[28]

S1RHES RAHE

ZF ENRBE RE

1[47]3048%h I
2[46] 911342 Ik
3[38] 90451 H

BAK 1 WERR &)
3 (BERAHE)
HOEE 2 (i 5E)

4143] 9171 LAl 2 (FRNHT-5E)

5[31]3156F %
6 [44] 2024# H
7[45] 890F ik
81713036 % IR
9[33] 8834 fi
10 [37]13042° % ¥
11[40] 5048 A

Bl 2 ik -5E)
Fj A3 (-8B )
R (IRhig &)
£ W3 GERAHE)
&g 2 (Inmig &%)
Zx kg (SetechACHEN)

¥ A 3 (llnmEf-HE)

12[ 111622384 F F7aFx 3 (Hfi @ -HE)

13[34] 5211 &
1430719507 7% 1|
15281102844 1
16 [32] 5059 F

A3 (llpET-5E)
i B2 CRRTREe: )
WD 3 Ok i - b R
¥ 02 (MEZR fHE)

170391938150 E£JvE 4 (HF K- E)

182913044 4 #f
19[35] 6041% B
20[25] 2943 K
21271406279 2
22 [26]5060 7k
23 [24] 315931 FF
24[19] 175%& @
25[23] 461/ 5

H %2 BEEs-fE)
il K 2 (WFRER-HE)
FAK 3 @RA -5 E)
il A8 3 G 7he - i %)
MR AL 2 BKEFR &)
2 (lndts-Hx)
AR 3 (EFAT-5FE)
xFH 2 BERh-&E)

(5 £ 5 ) KI5

om60 +0.
om01 +1.
4m92 +0.
4m87 +0.
4m86 +0.
4m84 +0.
4m73 -O0.
4m72 +0.
4m64 +0.
4m61 0.
4md7 +1.
4m50 +0.
4m50 +0.
4m50 +1.
4m48 +0.
4m45 -0.
4m43 0.
4md2 +0.
4m39 -0.
4m38 +0.
4m29 +0.
4m24 +0.
4m17 +0.
4m13 +0.
4m12 0.



26[18] 69 I 3 1 (EiferACH%) 4m06 +0.
27[ 7] AT3%E¥y WEE 3 (Flf-£E) 4m03 +0.
28 [ 2]1423F0 /& FH 3 (RAOH-5E) 3m87 +1.
29[16] 544 A & 452 \EKET-%E) 3m84 0.
30[15] 3884H Jii HE g 2 (#hiRp-£5E) 3m80 -0.
31[22]5332%% # w9 A\ 2 (MARHEAEHE) 3m78 +0.
32[20] 2424 W #E# 3 (IngEd-%E) 3m75 +0.
33[11]145165# P me 22 2 (5HFH-5E) 3m72 0.
34[12] 849k H K B3 (AWEH-HE) 3m71 +0.
35[10] 28R %r 2 (JIOEF-%E) 3m62 -0.
36[ 6] 3834 N B A2 (HiRt-£5E) 3mb9 +0.
370 4] 809HF EHM 2 (HIEH-HE) 3md9 +0.
38[21] 14195 % #0 2 3 (aEld-45E) 3m35 +1.
39[ 514521 1 ¥ %E 2 (5HHP-5E) 3m30 +0.
40[ 8] 264K AfmzE2 (lnfd-5%E) 2m87 +0.
41[42] 805k 76 ) 2 3 (F)IH-H+E) 2m83 +0.
421 3] 4628211 72 oF 2 (BEHRP-%E) 2m66 +1.
[13] 70F @ @ X3 (\EARES-&E) 5E8k% L
[ 9] 810 B # Y 2 (HIEH-HE) Ri5
(1414523 587 A 2 (5BHEF-HE) RiG
(36136040 i 0 ¥ 3 (RHEHE BE) Ri5
[41]136104H H BE 3% 2 (RRHER BT Ri5
[48] 9115/ Ml A8 4 3 3 (BFBK-HE) Rig

TF =k R
1016]9412¥F i 2 M 1 GRFEK-#F) 11m65 +0. 8
20 4] 8831 g A g2 (lohivg &%) 10m49 +0. 4
31411720 & & £ 3 (R m-HF)10md4 +2.0
4113] T K BEREH-HE)10m15 +2.0
50 8130337 M fE 3 BERE-#5E) 9mo1 +2. 32352 9m90 +1.0
6[10]9113/8 I 2% B 3 (% k-%E) 9m88 +1.0
7[ 3150607k %7 #E £ 2 (BkEFHE-%E) 9m84 +0.5
8[ 5142344 = B3 (KEREHE) 9m83 +2. 82052 9m75 +0. 4
9[ 9150574 H f& & 2 (KEFRE-HE) Im67 +4. 328058 9Im26 +1.9
[ 1133200 FH 3£ B 3 (KEREHA 55 EBEkE L
[ 2]4062F9 ¥ Ah #t 3 (fifnhe- &5 %) iedxiE L
[ 61360400 & 0 ¥ 3 (REUKEBE) Ri5
[ 71361040 H e 3£ 2 (RRYKHA &) XI5
[1113038%k & ¥ #k 2 (iExm %) Ri5
(12130480 | B4k 1 GiExm -&E) Ri5
[15]9115 /M1 4% 2 36 3 (BT[R5 E) Ri5

hELF FIALIR2 T21ke] RES

101314518 JF 16 & 3 CREAH-HE) Im97
2[14] 2558k oo v 2 (BERP-HE) Im78
31514515k 25~ & 3 (Bapaty -5 E) 9mb4
4111145202 & =2 (Rag-f R 8m29
5[ 9] 5018nAk MB2Jh¥ 2 (BERT-&E) 8m00
60 11 217#% HERE 3 (R -%E) Tm88
70 5] 47445 3 & R 3 (FHAF-HE) Tmbd
8[ 4] 4658 1 Y K2 (FHAP-HE) Tmdl
9[10]4517F #5  Hk 2% 3 (FHH-%E) Tmd0
100 7] 845H5 #F ff 2F 2 (RN -5E) Tmi3
10 8J1419 | KRl 2 @EFH _H-5%E) 6mI6
1212145467 == Fi + 3 (AiET &%) 6m94
130 3] 25/pMp<F A 2 (GHRF-HiE) 6md6

— d N PP O I LWLWOoO W PAEADNO—=W



130 6] 4034 + 4% 2 (BEAD-HE) 6ml6
[ 2] 244 HEE 3 (IRERTHE) Ri5

ZF fadix[4. 000kg] REE

108191128 E £ 72 4 (BEFA-%E) 10m52
2[ 215056 2 Ig R ¥ 1 (KEFRE-HE) 8m80
3[ 715051 M FEAKHE 3 (KEZRE-HE) 8m75
4[ 515053 fv & FfEfE 2 (KEFHE % E) 8m68
5[ 9]5355% 17 & 7% 2 (RELKEA-HE) 8m62
6[ 6]50521f A K§2 (KEFHE-HE) 8m05
70 3150554 M #E ¥ 1 BkEFRE-HE) Tm94
8[ 4] 603K ¥H ¥ E3 WFERF %HE) Tmbl
9[ 1]3157/1 & £ me2 (ndta-&mE) 6m29

ZF F#ER[1.000kg] R

1014197075 (L1 ¥ 38 3 G K- iEE) 47m12
2[15]5520 H K& (B Q- 7kHk) 44m82
S[I3]9NIBA 7 A 7 2 (BEFK % E)34m01
41 714688)11 E | AE 1 (FRAF-HE)30m76
5[1015051 M EAKH 3 (BkEFE-5E) 24m07
6[ 9150521 A K2 (KEFE-5HE) 19mb0
70 6] 63748 (L ik 2 2 (JIMRAH 5E)19m16
8[ 2]3157#1 & FE w2 (e % %) 18m60
9[ 115054°K 77 #h % 2 (KEFRE-HE)17m13
10[ 4]51315% #fi B £ 3 (INEEE-HE) 16m14
1 3] 634°F H /5 2 (IIERAE%E) 15m64
12[ 5]4544%% 3% B3 A7 2 (= fUs -5 ) 14m29

[ 8146894 % K b1 (BRAF-HE) Ri5

(111268648 A (£ 4% 2 (FriRfiE- %) Ri5

[12] 2679 7+ & 3£ 3 TR -HE) Ri5

ZF Y% [600g] HREF

1016]9118 7. 1% JE # 3 (¥ Kk -% %) 3Tmb5
2[10]304075 i H2 2 (B EFmE-%E)31m03
3[14] 63742 (b & %k 2 (I@REF-HE) 2Tm37
410 3116411 & 32 WL 2 (GiffEE- 5 E) 26m24
5[ 8]3046 42 O ¥ %52 (FE¥E HE)25m16
6 9130451 |5 AL 2 GFEXRE HE)24m24
6[12]1035A JII & 32 (k= - # E) 24m24
8[ 2116284 H L #F 3 (Hifips-HE)22m98
9[ 4]51315% i H 3£ 3 (II0FHERE-HE)22m18
10[ 5]18788AKE J732ML 3 (5% - 55 ) 20m11
11[11]30327%F 7k 3£ 3 BFExm-HE) 19m62
12[13] 903t HEZAs% 2 (fviifa &%) 17m97
130 6]J1721 & % 16 A 3 (Rge -5 %) 17m32

[ 113613 K B Fn B 2 RAHEA &F) Ri5

[ 7] 684 74~ ff  (EiferACHE) Ri5H

[15] 19688 Z & 25 2 (BElER 5F) RIS



